		ITE	MS		South St	tate, Inc.	Mount Constru	uction Co., Inc.	Carbro Cons	tructors Corp	IEW Construct	tion Group, Inc	Union Paving
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$220,000.00	\$220,000.00	\$250,000.00	\$250,000.00	\$310,000.00	\$310,000.00	\$230,000.00	\$230,000.00	\$250,000.00
2	1D01LAY	1	L.S.	Construction Layout	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$140,000.00	\$140,000.00	\$100,000.00
				Progress Schedule (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$250,000. Enter a Unit Price of \$250,000 as your bid for	\$050.000.00	\$050.000.00	\$050.000.00	\$050 000 00	\$050.000.00	\$050 000 00	\$050.000.00	\$050 000 00	\$050.000.00
3	1G03SCH	1	L.S.	this item.)	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00
4	2A01CAG	3.5	Acre	Clearing and Grubbing Roadway Excavation and	\$5,000.00	\$17,500.00	\$25,000.00	\$87,500.00	\$35,000.00	\$122,500.00	\$33,000.00	\$115,500.00	\$20,000.00
5	2B04REX	9,870.00	C.Y.	Embankment	\$25.00	\$246,750.00	\$15.00	\$148,050.00	\$24.00	\$236,880.00	\$9.59	\$94,653.30	\$20.00
6	2B15STS	1,323.00	C.Y.	Stripping Topsoil	\$30.00	\$39,690.00	\$10.00	\$13,230.00	\$24.00	\$31,752.00	\$5.64	\$7,461.72	\$10.00
				Riprap Stone Slope									
7			<b>T</b>	Protection, 12" Thick,	¢05.00	¢0,000,00	¢400.00	<b>*</b> 0.000.00	<b>*</b> 00.00	¢0,500,00	\$407.44	<b>\$0,000,00</b>	\$405 OO
7	2G00002	28	Ton	(D50=6") Riprap Stone Ditch	\$85.00	\$2,380.00	\$100.00	\$2,800.00	\$90.00	\$2,520.00	\$107.14	\$2,999.92	\$125.00
8	2G12D07	56	Ton	Protection, 12" Thick, D50=6"	\$85.00	\$4,760.00	\$100.00	\$5,600.00	\$90.00	\$5,040.00	\$99.25	\$5,558.00	\$110.00
9	2H00006	13,265.00	L.F.	Heavy Duty Silt Fence, Orange	\$5.15	\$68,314.75	\$4.00	\$53,060.00	\$6.00	\$79,590.00	\$3.95	\$52,396.75	\$4.00
10	N2H0003	32	L.F.	Haybale Check Dam With Temporary Stone Outlet	\$75.00	\$2,400.00	\$100.00	\$3,200.00	\$5.00	\$160.00	\$71.29	\$2,281.28	\$40.00
11	2H45TEC	114	Ton	Construction Driveway	\$50.00	\$5,700.00	\$25.00	\$2,850.00	\$25.00	\$2,850.00	\$29.32	\$3,342.48	\$50.00
12	2H35TEC	26	L.F.	Floating Turbidity Barriers	\$7.00	\$182.00	\$25.00	\$650.00	\$25.00	\$650.00	\$68.68	\$1,785.68	\$30.00
13	2H40TEC	16	Each	Inlet Filters	\$100.00	\$1,600.00	\$150.00	\$2,400.00	\$30.00	\$480.00	\$245.81	\$3,932.96	\$125.00
14	2M00004	56	C.Y.	Reno Mattress (Gabion Basket)	\$280.00	\$15,680.00	\$300.00	\$16,800.00	\$325.00	\$18,200.00	\$348.50	\$19,516.00	\$400.00
15	3A06ABC	252	S.Y.	Aggregate Base Course, 6"	\$9.00	\$2,268.00	\$10.00	\$2,520.00	\$15.00	\$3,780.00	\$11.28	\$2,842.56	\$13.00
		-		Thick Aggregate Base Course, 8"				. ,					
16	3A08ABC	11,057.00	S.Y.	Thick Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$2,000. Enter a Unit Price of \$2,000 as your bid item for this item ) Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$5000. Enter a Unit Price	\$9.00 \$2,000.00	\$99,513.00 \$2,000.00	\$10.00	\$110,570.00 \$2,000.00	\$10.00	\$110,570.00 \$2,000.00	\$10.15	\$112,228.55 \$2,000.00	\$10.00 \$2,000.00
18	3B58APA	1	L.S.	of \$5000 as your bid for this item )	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
19	3B26TAC	3,123.00	Gallon	Tack Coat	\$0.10	\$312.30	\$0.01	\$31.23	\$0.01	\$31.23	\$3.38	\$10,555.74	\$3.00
20	3B31SUP	1,352.00	Ton	Superpave Hot Mix Asphalt 12.5M64 Surface Course	\$90.00	\$121,680.00	\$67.00	\$90,584.00	\$77.00	\$104,104.00	\$84.59	\$114,365.68	\$80.00
21	3B23SUP	5,964.00	Ton	Superpave Hot Mix Asphalt 19M 64 Base Course	\$85.00	\$506,940.00	\$64.00	\$381,696.00	\$76.00	\$453,264.00	\$62.03	\$369,946.92	\$80.00
22	3C02BRS	2,468.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$11.50	\$28,382.00	\$11.00	\$27,148.00	\$14.00	\$34,552.00	\$13.53	\$33,392.04	\$12.00
23	3E50PMR	220	S.Y.	Surface Milling, 2" Average Depth	\$10.00	\$2,200.00	\$30.00	\$6,600.00	\$21.00	\$4,620.00	\$22.56	\$4,963.20	\$20.00

		ITE	MS		South S	tate, Inc.	Mount Constru	uction Co., Inc.	Carbro Cons	tructors Corp	IEW Construct	ion Group, Inc	Union Paving a
24	4A11RFS	68	Pound	Reinforcement Steel, Epoxy Coated	\$2.00	\$136.00	\$10.00	\$680.00	\$5.00	\$340.00	\$5.74	\$390.32	\$10.00
25	5A00006	1,192.00	L.F.	6-Inch Combination Underdrain	\$20.00	\$23,840.00	\$30.00	\$35,760.00	\$25.00	\$29,800.00	\$11.28	\$13,445.76	\$35.00
26	N5A0004	102	L.F.	Subbase Outlet Drain	\$40.00	\$4,080.00	\$50.00	\$5,100.00	\$20.00	\$2,040.00	\$18.05	\$1,841.10	\$28.00
27	5B00030	497	L.F.	36" Corrugated Aluminum Alloy Pipe, Gauge 14	\$80.00	\$39,760.00	\$80.00	\$39,760.00	\$205.00	\$101,885.00	\$91.35	\$45,400.95	\$100.00
28	5B00024	28	L.F.	48" Corrugated Aluminum Alloy Pipe, Gauge 12	\$160.00	\$4,480.00	\$200.00	\$5,600.00	\$245.00	\$6,860.00	\$154.51	\$4,326.28	\$150.00
29	5B00025	100	L.F.	60" Corrugated Aluminum Alloy Pipe, Gauge 10	\$185.00	\$18,500.00	\$200.00	\$20,000.00	\$270.00	\$27,000.00	\$163.54	\$16,354.00	\$200.00
30	5B18RC3	424	L.F.	18" Reinforced Concrete Pipe	\$45.00	\$19,080.00	\$60.00	\$25,440.00	\$155.00	\$65,720.00	\$89.10	\$37,778.40	\$80.00
31	5B36RC3	199	L.F.	36" Reinforced Concrete Pipe, Class III	\$100.00	\$19,900.00	\$100.00	\$19,900.00	\$210.00	\$41,790.00	\$106.02	\$21,097.98	\$110.00
32	5B48RC3	33	L.F.	48" Reinforced Concrete Pipe, Class III	\$150.00	\$4,950.00	\$200.00	\$6,600.00	\$220.00	\$7,260.00	\$397.00	\$13,101.00	\$200.00
33	5B00026	1	Each	29"x45" Reinforced Concrete Elliptical Flared End Sections	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$3,509.80	\$3,509.80	\$3,350.00
34	5B00020	154	L.F.	34"X53" Reinforced Concrete Elliptical Pipe	\$175.00	\$26,950.00	\$200.00	\$30,800.00	\$255.00	\$39,270.00	\$174.81	\$26,920.74	\$200.00
35	5B00027	65	L.F.	29"x45" Reinforced Concrete Elliptical Pipe, Class V 38"x60" Reinforced	\$220.00	\$14,300.00	\$200.00	\$13,000.00	\$275.00	\$17,875.00	\$331.58	\$21,552.70	\$250.00
36	5B00028	49	L.F.	Concrete Elliptical Pipe, Class V	\$425.00	\$20,825.00	\$400.00	\$19,600.00	\$470.00	\$23,030.00	\$562.79	\$27,576.71	\$425.00
37	5C00028	2	Each	Manhole, Type SP-1	\$10,000.00	\$20,000.00	\$8,000.00	\$16,000.00	\$10,000.00	\$20,000.00	\$7,381.64	\$14,763.28	\$15,000.00
38	5C00029	2	Each	Manhole, Type SP-2	\$15,000.00	\$30,000.00	\$13,000.00	\$26,000.00	\$15,000.00	\$30,000.00	\$11,791.45	\$23,582.90	\$25,000.00
39	5C01NBO	2	Each	Inlet, Type B	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$2,639.12	\$5,278.24	\$2,800.00
40	5C00030	1	Each	Inlets, Type B1-X1P	\$7,500.00	\$7,500.00	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	\$5,097.78	\$5,097.78	\$11,500.00
41	5C00031	1	Each	Inlets, Type B-2	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,573.35	\$4,573.35	\$4,600.00
42	5C00032	1	Each	Inlets, Type B-2 Modified	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,442.52	\$4,442.52	\$4,700.00
43 44	9D602030M	1	Unit Each	Inlet, Type D-1	\$4,000.00 \$3,500.00	\$4,000.00 \$3,500.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$2,686.49 \$3,498.52	\$2,686.49 \$3,498.52	\$2,750.00 \$2,750.00
44	5C00033 5C00034	1	Each	Inlets, Type D-1P Inlets, Type D1-X1	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$4,838.38	\$3,498.32	\$2,750.00
45	5C00034 5C00035	1	Each	Inlets, Type D1-X1P	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$6,721.86	\$6,721.86	\$6,000.00
40	5C00035	2	Each	Inlets, Type D1-X1P	\$7,000.00	\$14,000.00	\$6,000.00	\$12,000.00	\$5,500.00	\$11,000.00	\$4,791.02	\$9,582.04	\$8,000.00
48	5C00037	- 1	Each	Inlets, Type D1-X3	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$5,842.15	\$5,842.15	\$8,000.00
49	5C00038	2	Each	Inlets, Type E-1	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$3,601.16	\$7,202.32	\$3,500.00
50	5C00039	2	Each	Reset Frame, Type E with Extension	\$300.00	\$600.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$957.53	\$1,915.06	\$750.00
51	5D10INC	36	C.Y.	Incidental Concrete	\$900.00	\$32,400.00	\$700.00	\$25,200.00	\$750.00	\$27,000.00	\$610.16	\$21,965.76	\$800.00
52	5F01CLC	28	L.F.	Concrete Lip Curb	\$20.00	\$560.00	\$34.00	\$952.00	\$36.00	\$1,008.00	\$56.39	\$1,578.92	\$50.00
53	5H02CBC	364	L.F.	15"x41" Concrete Barrier Curb	\$85.00	\$30,940.00	\$100.00	\$36,400.00	\$95.00	\$34,580.00	\$89.55	\$32,596.20	\$110.00
54	N5F0001	22	L.F.	9" X 18" Concrete Curb	\$22.00	\$484.00	\$33.00	\$726.00	\$35.00	\$770.00	\$64.29	\$1,414.38	\$50.00
55	5J01PCA	2	Each	Parapet Connection, Type	\$1,650.00	\$3,300.00	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00	\$2,030.09	\$4,060.18	\$2,000.00
56	5J52BGR	1,619.00	L.F.	Beam Guide Rail Tangent Guide Rail	\$14.50	\$23,475.50	\$15.00	\$24,285.00	\$17.00	\$27,523.00	\$18.61	\$30,129.59	\$17.00
57	5J51TTS	2	Each	Terminal Traffic Stripes, Long - Life,	\$1,900.00	\$3,800.00	\$1,900.00	\$3,800.00	\$2,500.00	\$5,000.00	\$2,594.01	\$5,188.02	\$2,300.00
58	5P20LLS	13,160.00	L.F.	Epoxy Resin	\$0.90	\$11,844.00	\$0.30	\$3,948.00	\$0.35	\$4,606.00	\$0.51	\$6,711.60	\$0.75
59	5ZD01RPM	32	Each	Raised Pavement Markers	\$15.00	\$480.00	\$60.00	\$1,920.00	\$62.00	\$1,984.00	\$50.19	\$1,606.08	\$100.00

		ITEI	MS		South S	tate, Inc.	Mount Constru	uction Co., Inc.	Carbro Cons	tructors Corp	IEW Construct	tion Group, Inc	Union Paving
60	5001PAW	32	Each	Delineator, Type PA-W	\$39.00	\$1,248.00	\$38.00	\$1,216.00	\$40.00	\$1,280.00	\$14.10	\$451.20	\$50.00
61	5X10QCZ	2	Each	Quadguard Impact Attenuator, Type CZ	\$15,000.00	\$30,000.00	\$20,000.00	\$40,000.00	\$5,000.00	\$10,000.00	\$4,511.32	\$9,022.64	\$15,000.00
62	8B18MPT	3	Each	Furnishing Temporary	\$7,500.00	\$22,500.00	\$1.00	\$3.00	\$8,000.00	\$24,000.00	\$4,514.12	\$13,542.36	\$4,000.00
63	5ZO0010	1	L.S.	Lead and Asbestos Survey, Report and Monitoring Removal of Asbestos (This	\$18,000.00	\$18,000.00	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00	\$10,150.45	\$10,150.45	\$20,000.00
				is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$100,000. Enter a Unit Price of \$100,000 as your									
64	5ZO0017	1	L.S.	bid for this item.)	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
65	5ZO0012	1	L.S.	Demolition of Buildings (1)	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$15,770.44	\$15,770.44	\$25,000.00
66	5ZO0013	1	L.S.	Demolition of Buildings (2)	\$15,500.00	\$15,500.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00	\$20,402.32	\$20,402.32	\$25,000.00
67	5ZO0014	1	L.S.	Demolition of Buildings (3)	\$16,500.00	\$16,500.00	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$17,700.39	\$17,700.39	\$25,000.00
68	5ZO0015	1	L.S.	Demolition of Buildings (4)	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$35,000.00	\$35,000.00	\$15,219.03	\$15,219.03	\$25,000.00
69	5ZO0033	5	Each	Removal of Aboveground Storage Tanks Environmental Health and	\$1,700.00	\$8,500.00	\$400.00	\$2,000.00	\$750.00	\$3,750.00	\$169.17	\$845.85	\$800.00
70	5ZO0019	1	L.S.	Safety Plans	\$2,000.00	\$2,000.00	\$13,000.00	\$13,000.00	\$6,000.00	\$6,000.00	\$1.13	\$1.13	\$25,000.00
71	5ZG04PJ	321	L.F.	30 Inch Steel Pipe Jacking	\$1,000.00	\$321,000.00	\$1,200.00	\$385,200.00	\$1,450.00	\$465,450.00	\$1,518.27	\$487,364.67	\$1,375.00
72	5ZL04DIP	300	L.F.	4" Ductile Iron Water Pipe Class 52 Force Main 12" Ductile Iron Water	\$50.00	\$15,000.00	\$50.00	\$15,000.00	\$129.00	\$38,700.00	\$68.38	\$20,514.00	\$50.00
73	5ZL12DP	1,510.00	L.F.	Pipe, Class 52	\$65.00	\$98,150.00	\$80.00	\$120,800.00	\$180.00	\$271,800.00	\$86.02	\$129,890.20	\$70.00
74	5ZL0019	450	L.F.	30" Steel Casing	\$275.00	\$123,750.00	\$150.00	\$67,500.00	\$650.00	\$292,500.00	\$487.39	\$219,325.50	\$400.00
75	5ZL0002	125	L.F.	2-6" Electric Riser Conduit, Concrete Encased	\$56.00	\$7,000.00	\$56.00	\$7,000.00	\$60.00	\$7,500.00	\$63.96	\$7,995.00	\$45.00
76	6J00058	250	L.F.	2-6" Electric Riser Conduit	\$54.50	\$13.625.00	\$54.00	\$13,500.00	\$58.00	\$14,500.00	\$60.66	\$15,165.00	\$45.00
77	5ZL0012	950	L.F.	9-5" Duct, Concrete Encased Ductbank	\$92.00	\$87,400.00	\$93.00	\$88,350.00	\$95.00	\$90,250.00	\$102.56	\$97,432.00	\$100.00
78	5ZL0101	60	L.F.	10-4" Duct, Concrete Encased Ductbank	\$80.50	\$4,830.00	\$80.00	\$4,800.00	\$85.00	\$5,100.00	\$90.43	\$5,425.80	\$100.00
79	5ZL0102	290	L.F.	3-4" Duct, Concrete Encased Ductbank	\$47.00	\$13,630.00	\$46.00	\$13,340.00	\$50.00	\$14,500.00	\$52.38	\$15,190.20	\$65.00
80	5ZL0103	480	L.F.	9-4" Duct, Concrete Encased Ductbank	\$75.00	\$36,000.00	\$75.00	\$36,000.00	\$80.00	\$38,400.00	\$82.71	\$39,700.80	\$100.00
81	5ZL0104	260	L.F.	6-4" Duct, Concrete Encased Ductbank	\$83.00	\$21,580.00	\$82.00	\$21,320.00	\$85.00	\$22,100.00	\$91.53	\$23,797.80	\$75.00
82	5ZL0105	70	L.F.	2-4" Telephone Riser Conduit	\$52.50	\$3,675.00	\$50.00	\$3,500.00	\$55.00	\$3,850.00	\$58.45	\$4,091.50	\$45.00
83	5ZL0106	100	L.F.	2-4" Telephone Riser Conduit, Concrete Encased	\$42.00	\$4,200.00	\$40.00	\$4,000.00	\$45.00	\$4,500.00	\$46.32	\$4,632.00	\$50.00
84	5ZL0107	100	L.F.	1-4" Cable Riser Conduit, Concrete Encased	\$18.00	\$1,800.00	\$17.00	\$1,700.00	\$20.00	\$2,000.00	\$19.85	\$1,985.00	\$25.00
85	5ZL0081	7	Each	Water Main Blow Off Assemblies	\$1,200.00	\$8,400.00	\$300.00	\$2,100.00	\$700.00	\$4,900.00	\$1,461.25	\$10,228.75	\$1,000.00
86	5ZL0082	1	Each	4" Tapping Sleeve and Valve	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00	\$11,745.12	\$11,745.12	\$4,500.00
87	5ZL0083	1	Each	6" Tapping Sleeve and Valve	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$10,642.29	\$10,642.29	\$5,000.00
88	5ZL0085	3	Each	12" Tapping Sleeve and Valve	\$13,000.00	\$39,000.00	\$7,000.00	\$21,000.00	\$6,500.00	\$19,500.00	\$15,219.03	\$45,657.09	\$8,500.00
89	5ZL0086	2	Each	12" Line Valve	\$15,000.00	\$30,000.00	\$5,000.00	\$10,000.00	\$2,500.00	\$5,000.00	\$18,306.95	\$36,613.90	\$3,500.00

		ITEI	MS		South St		Mount Constru			tructors Corp	IEW Construct	ion Group, Inc	Union Paving a
90	5ZL12WVU	1	Each	12" Water Valve	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$3,087.92	\$3,087.92	\$3,500.00
91	5ZL0087	1	Each	12" Line Stop	\$14,000.00	\$14,000.00	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$15,439.60	\$15,439.60	\$2,500.00
92	5ZL0100	1	Each	6" Line Stop	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00	\$12,075.97	\$12,075.97	\$1,800.00
93	5ZL0020	3	Each	Water Service Connection	\$7,500.00	\$22,500.00	\$2,500.00	\$7,500.00	\$750.00	\$2,250.00	\$799.55	\$2,398.65	\$2,500.00
94	5ZL01FHA	2	Each	Fire Hydrant Assemblies	\$7,500.00	\$15,000.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$12,186.25	\$24,372.50	\$6,500.00
95	5ZL0021	1,510.00	L.F.	6" Ductile Iron Pipe Sewer Main	\$50.00	\$75,500.00	\$40.00	\$60,400.00	\$175.00	\$264,250.00	\$59.77	\$90,252.70	\$75.00
96	5ZL0078	1	Each	Manhole, Sanitary Sewer	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$4,839.52	\$4,839.52	\$4,000.00
97	5ZL0088	1	Each	Manhole, Sanitary Sewer, 5' Diameter	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,043.29	\$7,043.29	\$4,500.00
98	5ZL0089	1	Each	Manhole, Sanitary Sewer, 6' Diameter	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$6,694.79	\$6,694.79	\$5,000.00
99	5ZL0090	1	Each	Sanitary Sewer Air Release And Vacuum Valve Assemblies	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,387.28	\$7,387.28	\$5,000.00
100	5ZL0091	1	Each	Sanitary Sewer Sampling Valve Assemblies	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$6,524.49	\$6,524.49	\$5,000.00
101	5ZL0092	1	Each	Sanitary Sewer Blow Off Valve Assemblies	\$5,200.00	\$5,200.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$8,774.50	\$8,774.50	\$5,000.00
102	5ZL0017	40	L.F.	36" Split Steel Casing	\$700.00	\$28,000.00	\$270.00	\$10,800.00	\$850.00	\$34,000.00	\$1,074.26	\$42,970.40	\$500.00
103	6A00033	14,250.00	L.F.	5" PVC Schedule 40, Underground	\$7.25	\$103,312.50	\$8.00	\$114,000.00	\$12.00	\$171,000.00	\$8.27	\$117,847.50	\$10.00
104	5ZL0003	7	Each	Electric Manhole	\$14,000.00	\$98,000.00	\$14,000.00	\$98,000.00	\$16,000.00	\$112,000.00	\$15,991.01	\$111,937.07	\$15,000.00
105	6A034PU	12,000.00	L.F.	4" PVC Schedule 40, Underground	\$6.50	\$78,000.00	\$7.00	\$84,000.00	\$11.00	\$132,000.00	\$7.72	\$92,640.00	\$9.00
106	5ZL0042	4	Each	Telephone Manhole	\$11,000.00	\$44,000.00	\$11,000.00	\$44,000.00	\$13,000.00	\$52,000.00	\$12,682.53	\$50,730.12	\$7,500.00
107	5ZL0043	5	Each	Cable TV Manhole	\$3,300.00	\$16,500.00	\$3,200.00	\$16,000.00	\$5,000.00	\$25,000.00	\$3,639.33	\$18,196.65	\$4,500.00
108	5ZL0093	4	Each	Cable Hand Hole	\$4,400.00	\$17,600.00	\$4,200.00	\$16,800.00	\$5,000.00	\$20,000.00	\$4,852.45	\$19,409.80	\$250.00
109	6A03RMS	900	L.F.	3" Rigid Metallic Conduit, on Structures	\$35.00	\$31,500.00	\$30.00	\$27,000.00	\$40.00	\$36,000.00	\$36.65	\$32,985.00	\$15.00
110	6A03RMU	100	L.F.	3" Rigid Metallic Conduit, Underground	\$25.00	\$2,500.00	\$30.00	\$3,000.00	\$53.00	\$5,300.00	\$33.83	\$3,383.00	\$50.00
111	6A24JBC	6	Each	Junction Box, Type C	\$2,000.00	\$12,000.00	\$2,500.00	\$15,000.00	\$3,300.00	\$19,800.00	\$2,932.35	\$17,594.10	\$2,500.00
112	6A25JBD	4	Each	Junction Box, Type D	\$2,500.00	\$10,000.00	\$1,400.00	\$5,600.00	\$1,800.00	\$7,200.00	\$1,635.35	\$6,541.40	\$1,200.00
113	7C01TOP	10,085.00	S.Y.	Topsoil	\$1.35	\$13,614.75	\$2.40	\$24,204.00	\$2.00	\$20,170.00	\$1.58	\$15,934.30	\$1.75
114	7D01SED	10,085.00	S.Y.	Seeding, Type A	\$0.80	\$8,068.00	\$1.50	\$15,127.50	\$1.00	\$10,085.00	\$1.02	\$10,286.70	\$1.00
115	7F02SSM	148	S.Y.	Permanent Soil Stabilization Matting	\$4.00	\$592.00	\$0.50	\$74.00	\$5.00	\$740.00	\$5.64	\$834.72	\$6.00
116	7J01BLW	430	S.F.	Block Wall	\$32.00	\$13,760.00	\$25.00	\$10,750.00	\$45.00	\$19,350.00	\$39.47	\$16,972.10	\$70.00
117	8A10MPT	500	L.F.	Furnishing Temporary Concrete Barrier, Type 4	\$50.00	\$25,000.00	\$1.00	\$500.00	\$45.00	\$22,500.00	\$55.07	\$27,535.00	\$50.00
118	8A03MPT	1,730.00	L.F.	Precast Concrete Curb Construction Barrier	\$15.00	\$25,950.00	\$80.00	\$138,400.00	\$45.00	\$77,850.00	\$30.97	\$53,578.10	\$30.00
119	8C21MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 1	\$80,000.00	\$80,000.00	\$145,000.00	\$145,000.00	\$150,000.00	\$150,000.00	\$123,652.53	\$123,652.53	\$50,000.00
120	8C22MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 2	\$100,000.00	\$100,000.00	\$145,000.00	\$145,000.00	\$75,000.00	\$75,000.00	\$126,164.56	\$126,164.56	\$50,000.00
121	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$90,000.00	\$90,000.00	\$250,000.00	\$250,000.00	\$150,000.00	\$150,000.00	\$20,910.98	\$20,910.98	\$25,000.00
122	9D607012P	36	L.F.	24" x 41" Concrete Barrier Curb	\$118.00	\$4,248.00	\$122.00	\$4,392.00	\$150.00	\$5,400.00	\$169.17	\$6,090.12	\$150.00
123	5ZO0034	1	L.S.	Demolition of Buildings (5)	\$16,500.00	\$16,500.00	\$16,000.00	\$16,000.00	\$30,000.00	\$30,000.00	\$13,564.79	\$13,564.79	\$25,000.00
124	5ZO0035	1	L.S.	Demolition of Buildings (6)	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$33,000.00	\$33,000.00	\$18,417.23	\$18,417.23	\$25,000.00
125	5ZO0035	1	L.S.	Demolition of Buildings (7)	\$28,000.00	\$28.000.00	\$27.000.00	\$27,000.00	\$35,000.00	\$35.000.00	\$25,475,33	\$25,475.33	\$40,000.00

		ITE	MS		South S	State, Inc.	Mount Constr	uction Co., Inc.	Carbro Cons	structors Corp	IEW Construc	tion Group, Inc	Union Paving : Ir
126	5ZO0037	1	L.S.	Demolition of Buildings (8)	\$19,500.00	\$19,500.00	\$19,000.00	\$19,000.00	\$37,000.00	\$37,000.00	\$27,680.99	\$27,680.99	\$25,000.00
127	5ZO0021	4	Each	Removal of Underground Storage Tanks	\$12,000.00	\$48,000.00	\$3,500.00	\$14,000.00	\$1,400.00	\$5,600.00	\$2,763.18	\$11,052.72	\$6,000.00
128	8A00002	1	L.S.	Uniform Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
129	5ZO0018	676	Ton	Off-Site Disposal of ID-27 Waste	\$20.00	\$13,520.00	\$30.00	\$20,280.00	\$43.00	\$29,068.00	\$31.58	\$21,348.08	\$50.00
130	N2H0006	2	Each	Dewatering Basins	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$750.00	\$1,500.00	\$5,995.43	\$11,990.86	\$3,000.00
		TOTAL OF A	BOVE ITEMS	6		\$4,404,289.80		\$4,442,616.73		\$5,702,727.23		\$4,698,411.93	

## T869.120.301

Contract	T869.120.301	- Bid	Tabulation
Contract	1000.120.001	Dia	rabalation

					and Const. Co.,		Contract 10	09.120.301 -	Bid Tabulation	Vollers Exca	avating and	[	
		ITE	MS		10.	Agate Constru	ction Co., Inc.	Crisdel G	Froup, Inc.	Construc		Rosangela Cont	racting Co., Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D10MOB	1	L.S.	Mobilization	\$250,000.00	\$228,014.12	\$228,014.12	\$832,661.59	\$832,661.59	\$414,380.00	\$414,380.00	\$488,000.00	\$488,000.00
2	1D01LAY	1	L.S.	Construction Layout	\$100,000.00	\$50,000.00	\$50,000.00	\$87,856.23	\$87,856.23	\$7,000.00	\$7,000.00	\$90,000.00	\$90,000.00
				Progress Schedule (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$250,000. Enter a Unit Price of \$250,000 ex your bid for									
3	1G03SCH	1	L.S.	\$250,000 as your bid for this item.)	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00
4	2A01CAG	3.5	Acre	Clearing and Grubbing	\$70,000.00	\$7,000.00	\$24,500.00	\$21,453.21	\$75,086.24	\$12,500.00	\$43,750.00	\$20,000.00	\$70,000.00
5		9,870.00	C.Y.	Roadway Excavation and	¢107 400 00	\$40.00	\$394,800.00	\$36.16	\$356,899.20	\$27.00	\$266,490.00	\$32.00	\$315,840.00
6	2B04REX 2B15STS	9,870.00	C.Y.	Embankment	\$197,400.00 \$13,230.00	\$40.00	\$394,800.00	\$30.10	\$32,995.62	\$27.00	\$200,490.00	\$32.00	\$15,876.00
0	2B15515	1,323.00	U.T.	Stripping Topsoil Riprap Stone Slope	\$13,230.00	\$10.00	\$13,230.00	<b>Φ</b> 24.94	\$32,995.6Z	\$25.00	\$33,075.00	\$12.00	\$15,876.00
				Protection, 12" Thick,									
7	2G00002	28	Ton	(D50=6")	\$3,500.00	\$100.00	\$2,800.00	\$145.42	\$4,071.76	\$118.00	\$3,304.00	\$130.00	\$3,640.00
8	2G12D07	56	Ton	Riprap Stone Ditch Protection, 12" Thick, D50=6"	\$6,160.00	\$100.00	\$5,600.00	\$146.95	\$8,229.20	\$198.00	\$11,088.00	\$130.00	\$7,280.00
9	2H00006	13,265.00	L.F.	Heavy Duty Silt Fence, Orange	\$53,060.00	\$7.00	\$92,855.00	\$4.01	\$53,192.65	\$3.25	\$43,111.25	\$3.50	\$46,427.50
10	N2H0003	32	L.F.	Haybale Check Dam With Temporary Stone Outlet	\$1,280.00	\$40.00	\$1,280.00	\$53.39	\$1,708.48	\$16.70	\$534.40	\$75.00	\$2,400.00
11	2H45TEC	114	Ton	Construction Driveway	\$5,700.00	\$40.00	\$4,560.00	\$29.03	\$3,309.42	\$86.70	\$9,883.80	\$50.00	\$5,700.00
12	2H35TEC	26	L.F.	Floating Turbidity Barriers	\$780.00	\$60.00	\$1,560.00	\$58.75	\$1,527.50	\$125.00	\$3,250.00	\$10.00	\$260.00
13	2H40TEC	16	Each	Inlet Filters	\$2,000.00	\$100.00	\$1,600.00	\$103.00	\$1,648.00	\$90.00	\$1,440.00	\$200.00	\$3,200.00
14	2M00004	56	C.Y.	Reno Mattress (Gabion Basket)	\$22,400.00	\$400.00	\$22,400.00	\$551.41	\$30,878.96	\$261.00	\$14,616.00	\$500.00	\$28,000.00
15	3A06ABC	252	S.Y.	Aggregate Base Course, 6" Thick	\$3,276.00	\$12.00	\$3,024.00	\$17.98	\$4,530.96	\$10.20	\$2,570.40	\$6.25	\$1,575.00
16	3A08ABC	11,057.00	S.Y.	Aggregate Base Course, 8" Thick	\$110,570.00	\$8.00	\$88,456.00	\$11.97	\$132,352.29	\$8.50	\$93,984.50	\$8.25	\$91,220.25
17	1HFP002	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$2,000. Enter a Unit Price of \$2,000 as your bid item for this item.) Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract.	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
18	3B58APA	1	L.S.	The Lump Sum price is \$5000. Enter a Unit Price of \$5000 as your bid for this item.)	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
19	3B26TAC	3,123.00	Gallon	Tack Coat	\$9,369.00	\$0.01	\$31.23	\$3.02	\$9,431.46	\$8.00	\$24,984.00	\$3.40	\$10,618.20
20	3B31SUP	1,352.00	Ton	Superpave Hot Mix Asphalt 12.5M64 Surface Course	\$108,160.00	\$70.00	\$94,640.00	\$83.23	\$112,526.96	\$86.00	\$116,272.00	\$78.00	\$105,456.00
21	3B23SUP	5,964.00	Ton	Superpave Hot Mix Asphalt 19M 64 Base Course	\$477,120.00	\$50.00	\$298,200.00	\$85.71	\$511,174.44	\$78.35	\$467,279.40	\$72.00	\$429,408.00
22	3C02BRS	2,468.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$29,616.00	\$12.00	\$29,616.00	\$16.90	\$41,709.20	\$9.75	\$24,063.00	\$12.00	\$29,616.00
23	3E50PMR	220	S.Y.	Surface Milling, 2" Average Depth	\$4,400.00	\$6.00	\$1,320.00	\$73.99	\$16,277.80	\$12.00	\$2,640.00	\$13.00	\$2,860.00

## T869.120.301

							Contract 10	03.120.001 -	Bid Tabulation				
		ITE	MS		and Const. Co., nc.	Agate Constru	ction Co., Inc.	Crisdel G	Group, Inc.	Vollers Exc Construc	avating and tion, Inc.	Rosangela Conti	acting Co., Inc.
24	4A11RFS	68	Pound	Reinforcement Steel, Epoxy Coated	\$680.00	\$20.00	\$1,360.00	\$27.46	\$1,867.28	\$5.00	\$340.00	\$10.00	\$680.00
25	5A00006	1,192.00	L.F.	6-Inch Combination Underdrain	\$41,720.00	\$30.00	\$35,760.00	\$23.60	\$28,131.20	\$20.00	\$23,840.00	\$22.00	\$26,224.00
26	N5A0004	102	L.F.	Subbase Outlet Drain	\$2,856.00	\$30.00	\$3,060.00	\$68.19	\$6,955.38	\$37.00	\$3,774.00	\$22.00	\$2,244.00
27	5B00030	497	L.F.	36" Corrugated Aluminum Alloy Pipe, Gauge 14	\$49,700.00	\$150.00	\$74,550.00	\$118.09	\$58,690.73	\$66.50	\$33,050.50	\$100.00	\$49,700.00
				48" Corrugated Aluminum									
28	5B00024	28	L.F.	Alloy Pipe, Gauge 12 60" Corrugated Aluminum	\$4,200.00	\$200.00	\$5,600.00	\$253.80	\$7,106.40	\$119.00	\$3,332.00	\$160.00	\$4,480.00
29	5B00025	100	L.F.	Alloy Pipe, Gauge 10 18" Reinforced Concrete	\$20,000.00	\$250.00	\$25,000.00	\$247.83	\$24,783.00	\$150.50	\$15,050.00	\$190.00	\$19,000.00
30	5B18RC3	424	L.F.	Pipe	\$33,920.00	\$70.00	\$29,680.00	\$96.89	\$41,081.36	\$43.00	\$18,232.00	\$64.00	\$27,136.00
31	5B36RC3	199	L.F.	36" Reinforced Concrete Pipe, Class III	\$21,890.00	\$125.00	\$24,875.00	\$132.15	\$26,297.85	\$82.50	\$16,417.50	\$120.00	\$23,880.00
32	5B48RC3	33	L.F.	48" Reinforced Concrete	\$6,600.00	\$250.00	\$8,250.00	\$220.86	\$7,288.38	\$169.50	\$5,593.50	\$220.00	\$7,260.00
52	3D40KC3	55	L.I .	Pipe, Class III 29"x45" Reinforced	\$0,000.00	φ230.00	\$0,230.00	φ220.80	φ1,200.30	\$109.50	ψ0,090.00	\$220.00	\$7,200.00
33	5B00026	1	Each	Concrete Elliptical Flared End Sections	\$3,350.00	\$5,000.00	\$5,000.00	\$4,455.93	\$4,455.93	\$4,000.00	\$4,000.00	\$3,100.00	\$3,100.00
34	5000000	154	L.F.	34"X53" Reinforced	\$30,800.00	\$300.00	\$46,200.00	\$240.69	\$37,066.26	\$184.00	\$28,336.00	\$200.00	\$30,800.00
- 54	5B00020	104	L.F.	Concrete Elliptical Pipe 29"x45" Reinforced	\$30,800.00	\$300.00	\$40,200.00	\$240.09	φ37,000.20	\$164.00	\$26,330.00	\$200.00	\$30,800.00
				Concrete Elliptical Pipe,					<b>•</b> • • • • • • •	<b>*</b> • • • • • •	<b>•</b> • • • • • • • • • •		
35	5B00027	65	L.F.	Class V 38"x60" Reinforced	\$16,250.00	\$350.00	\$22,750.00	\$286.93	\$18,650.45	\$215.00	\$13,975.00	\$205.00	\$13,325.00
				Concrete Elliptical Pipe,									
36	5B00028	49	L.F.	Class V	\$20,825.00	\$650.00	\$31,850.00	\$524.24	\$25,687.76	\$430.00	\$21,070.00	\$425.00	\$20,825.00
37	5C00028	2	Each	Manhole, Type SP-1	\$30,000.00	\$11,000.00	\$22,000.00	\$12,275.02	\$24,550.04	\$10,810.00	\$21,620.00	\$6,500.00	\$13,000.00
38	5C00029	2	Each	Manhole, Type SP-2	\$50,000.00	\$14,000.00	\$28,000.00	\$19,520.17	\$39,040.34	\$16,000.00	\$32,000.00	\$11,000.00	\$22,000.00
39	5C01NBO	2	Each	Inlet, Type B	\$5,600.00	\$4,000.00	\$8,000.00	\$3,476.61	\$6,953.22	\$3,305.00	\$6,610.00	\$1,600.00	\$3,200.00
40	5C00030	1	Each	Inlets, Type B1-X1P	\$11,500.00	\$11,000.00	\$11,000.00	\$9,261.35	\$9,261.35	\$8,160.00	\$8,160.00	\$6,200.00	\$6,200.00
41	5C00031	1	Each	Inlets, Type B-2	\$4,600.00	\$6,500.00	\$6,500.00	\$7,269.87	\$7,269.87	\$4,295.00	\$4,295.00	\$2,800.00	\$2,800.00
42	5C00032	1	Each	Inlets, Type B-2 Modified	\$4,700.00	\$6,000.00	\$6,000.00	\$7,346.75	\$7,346.75	\$4,295.00	\$4,295.00	\$3,000.00	\$3,000.00
43	9D602030M	1	Unit	Inlet, Type D-1	\$2,750.00	\$4,000.00	\$4,000.00	\$3,689.74	\$3,689.74	\$2,400.00	\$2,400.00	\$1,800.00	\$1,800.00
44	5C00033	1	Each	Inlets, Type D-1P	\$2,750.00	\$4,000.00	\$4,000.00	\$3,129.66	\$3,129.66	\$2,300.00	\$2,300.00	\$1,900.00	\$1,900.00
45	5C00034	1	Each	Inlets, Type D1-X1	\$6,000.00	\$11,000.00	\$11,000.00	\$6,538.21	\$6,538.21	\$4,765.00	\$4,765.00	\$4,400.00	\$4,400.00
46	5C00035	1	Each	Inlets, Type D1-X1P	\$6,000.00	\$11,000.00	\$11,000.00	\$6,027.54	\$6,027.54	\$4,650.00	\$4,650.00	\$4,400.00	\$4,400.00
47	5C00036	2	Each	Inlets, Type D1-X2P	\$16,000.00	\$12,000.00	\$24,000.00	\$7,132.64	\$14,265.28	\$6,225.00	\$12,450.00	\$4,500.00	\$9,000.00
48	5C00037	1	Each	Inlets, Type D1-X3	\$8,000.00	\$11,000.00	\$11,000.00	\$8,216.70	\$8,216.70	\$6,125.00	\$6,125.00	\$6,400.00	\$6,400.00
49	5C00038	2	Each	Inlets, Type E-1	\$7,000.00	\$6,000.00	\$12,000.00	\$4,790.63	\$9,581.26	\$3,635.00	\$7,270.00	\$3,200.00	\$6,400.00
50	5C00039	2	Each	Reset Frame, Type E with	\$1,500.00	\$1,000.00	\$2,000.00	\$693.30	\$1,386.60	\$800.00	\$1,600.00	\$850.00	\$1,700.00
50	5C00039 5D10INC	36	C.Y.	Extension Incidental Concrete	\$28,800.00	\$1,000.00	\$2,000.00	\$1,002.66	\$36,095.76	\$800.00	\$1,000.00	\$1,300.00	\$46,800.00
52	5F01CLC	28	L.F.	Concrete Lip Curb	\$28,800.00	\$36.00	\$1,008.00	\$1,002.00	\$30,095.78	\$450.00	\$3,360.00	\$45.00	\$40,800.00
52	JEUICLO	20	L.I .	15"x41" Concrete Barrier	φ1,400.00	φ30.00	φ1,000.00	φ <b>5</b> 4.91	φ1,557.40	φ120.00	φ3,300.00	φ <del>4</del> 3.00	φ1,200.00
53	5H02CBC	364	L.F.	Curb	\$40,040.00	\$90.00	\$32,760.00	\$87.20	\$31,740.80	\$102.00	\$37,128.00	\$200.00	\$72,800.00
54	N5F0001	22	L.F.	9" X 18" Concrete Curb	\$1,100.00	\$30.00	\$660.00	\$62.60	\$1,377.20	\$33.00	\$726.00	\$60.00	\$1,320.00
55	5J01PCA	2	Each	Parapet Connection, Type A	\$4,000.00	\$1,800.00	\$3,600.00	\$1,647.31	\$3,294.62	\$1,900.00	\$3,800.00	\$1,850.00	\$3,700.00
56	5J52BGR	1,619.00	L.F.	Beam Guide Rail	\$27,523.00	\$16.00	\$25,904.00	\$17.57	\$28,445.83	\$18.00	\$29,142.00	\$16.20	\$26,227.80
57	5J51TTS	2	Each	Tangent Guide Rail Terminal	\$4,600.00	\$2,100.00	\$4,200.00	\$2,306.23	\$4,612.46	\$2,200.00	\$4,400.00	\$2,150.00	\$4,300.00
58	5P20LLS	13,160.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$9,870.00	\$0.30	\$3,948.00	\$0.33	\$4,342.80	\$0.80	\$10,528.00	\$0.50	\$6,580.00
		32	Each	Raised Pavement Markers	\$3,200.00	\$62.00	\$1,984.00	\$67.54	\$2,161.28	\$125.00	\$4,000.00	\$48.00	\$1,536.00

Contract T869.120.301 -	Bid Tabulation
-------------------------	----------------

							Contract 10	55.120.001	BIG TADUIATION	) / II E			
		ITE	10		and Const. Co., nc.	Agate Constru	ation Co. Inc.	Crisdel G	roup Inc		avating and tion, Inc.	Rosangela Cont	reating Co. Inc.
60	5004 DAVA	32	Each	Delinester Tune DA M	\$1,600.00	Agate Constru \$15.00	\$480.00	\$32.95	\$1,054.40	\$44.00	\$1,408.00	\$42.00	\$1,344.00
60	5001PAW	32	Each	Delineator, Type PA-W	\$1,600.00	\$15.00	\$480.00	\$32.95	\$1,054.40	\$44.00	\$1,408.00	\$42.00	\$1,344.00
61	5X10QCZ	2	Each	Quadguard Impact Attenuator, Type CZ	\$30,000.00	\$4,000.00	\$8,000.00	\$6,918.68	\$13,837.36	\$33,400.00	\$66,800.00	\$5,100.00	\$10,200.00
	0/110002			Furnishing Temporary	+,	• .,	+=,====	<i><b>+</b></i> <b>•</b> ,• • • • • •	<b>.</b>	+,		<i><b></b></i>	<b>.</b> ,
62	8B18MPT	3	Each	Impact Attenuator	\$12,000.00	\$4,000.00	\$12,000.00	\$3,727.70	\$11,183.10	\$2,000.00	\$6,000.00	\$4,700.00	\$14,100.00
				Lead and Asbestos									
				Survey, Report and	<b>*</b> ~~ ~~ ~			<b>A- A- A-A</b>	<b>0</b> 7.004.04	A 17 500 00	A	<b>.</b>	<b>*</b> • • • • • • • • •
63	5ZO0010	1	L.S.	Monitoring Removal of Asbestos (This	\$20,000.00	\$18,000.00	\$18,000.00	\$7,001.04	\$7,001.04	\$17,500.00	\$17,500.00	\$19,000.00	\$19,000.00
				is a NO-BID, Lump Sum									
				item for this contract. The									
				Lump Sum price is									
				\$100,000. Enter a Unit									
64	5700047	1	L.S.	Price of \$100,000 as your	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
	5ZO0017	1		bid for this item.)									
65	5ZO0012	1	L.S.	Demolition of Buildings (1)	\$25,000.00	\$26,000.00	\$26,000.00	\$32,287.32	\$32,287.32	\$24,000.00	\$24,000.00	\$27,000.00	\$27,000.00
66	5ZO0013	1	L.S.	Demolition of Buildings (2)	\$25,000.00	\$17,000.00	\$17,000.00	\$32,287.32	\$32,287.32	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00
67	5ZO0014	1	L.S.	Demolition of Buildings (3)	\$25,000.00	\$17,000.00	\$17,000.00	\$32,287.32	\$32,287.32	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00
68	5ZO0015	1	L.S.	Demolition of Buildings (4)	\$25,000.00	\$19,000.00	\$19,000.00	\$32,287.32	\$32,287.32	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00
69	5700000	5	Fach	Removal of Aboveground	\$4,000.00	\$400.00	¢2,000,00	¢0 111 00	¢10 555 10	\$1,400.00	¢7 000 00	¢450.00	¢0.050.00
69	5ZO0033	ə	Each	Storage Tanks Environmental Health and	\$4,000.00	\$400.00	\$2,000.00	\$2,111.02	\$10,555.10	\$1,400.00	\$7,000.00	\$450.00	\$2,250.00
70	5ZO0019	1	L.S.	Safety Plans	\$25,000.00	\$5,000.00	\$5,000.00	\$14,825.74	\$14,825.74	\$12,100.00	\$12,100.00	\$2,300.00	\$2,300.00
71	5ZG04PJ	321	L.F.	30 Inch Steel Pipe Jacking	\$441,375.00	\$800.00	\$256,800.00	\$1,260.74	\$404,697.54	\$1,200.00	\$385,200.00	\$1,250.00	\$401,250.00
	0200110			4" Ductile Iron Water Pipe	<b>.</b> ,		+===;=====	•••	••••	+ ,=	••••	<b>•</b> ••,=•••••	+
72	5ZL04DIP	300	L.F.	Class 52 Force Main	\$15,000.00	\$99.00	\$29,700.00	\$68.09	\$20,427.00	\$55.00	\$16,500.00	\$64.00	\$19,200.00
70		4 5 4 9 9 9		12" Ductile Iron Water	A 4 95 799 99	<b>A0</b> 4 00	<b>.</b>	005.00	<b>*</b> 4 <b>* * * * * *</b>	<b>***</b>	A 4 9 5 7 9 9 9 9	<b>0</b> 04.00	<b></b>
73	5ZL12DP	1,510.00	L.F.	Pipe, Class 52	\$105,700.00	\$94.00	\$141,940.00	\$85.66	\$129,346.60	\$70.00	\$105,700.00	\$81.00	\$122,310.00
74	5ZL0019	450	L.F.	30" Steel Casing	\$180,000.00	\$235.00	\$105,750.00	\$466.74	\$210,033.00	\$350.00	\$157,500.00	\$435.00	\$195,750.00
				2-6" Electric Riser Conduit,									
75	5ZL0002	125	L.F.	Concrete Encased	\$5,625.00	\$58.00	\$7,250.00	\$125.91	\$15,738.75	\$85.00	\$10,625.00	\$61.00	\$7,625.00
76	6J00058	250	L.F.	2-6" Electric Riser Conduit	\$11,250.00	\$55.00	\$13,750.00	\$63.43	\$15,857.50	\$60.00	\$15,000.00	\$58.00	\$14,500.00
	0000000	200	<b>_</b>	9-5" Duct, Concrete	\$11,200.000	\$00.00	\$10,100,000	¢00110	\$10,001.00	\$00.00	\$10,000100	400.00	\$1.1,000.00
77	5ZL0012	950	L.F.	Encased Ductbank	\$95,000.00	\$93.00	\$88,350.00	\$179.72	\$170,734.00	\$110.00	\$104,500.00	\$97.00	\$92,150.00
				10-4" Duct, Concrete		<b></b>							
78	5ZL0101	60	L.F.	Encased Ductbank	\$6,000.00	\$82.00	\$4,920.00	\$197.68	\$11,860.80	\$115.00	\$6,900.00	\$85.00	\$5,100.00
79	5ZL0102	290	L.F.	3-4" Duct, Concrete	\$18,850.00	\$47.00	\$13,630.00	\$59.30	\$17,197.00	\$55.00	\$15,950.00	\$50.00	\$14,500.00
15	JZL0102	230	L.I .	Encased Ductbank 9-4" Duct, Concrete	\$10,000.00	ψ+7.00	φ10,000.00	φ33.30	ψ17,137.00	ψ00.00	φ10,000.00	φ30.00	ψ14,500.00
80	5ZL0103	480	L.F.	Encased Ductbank	\$48,000.00	\$75.00	\$36,000.00	\$197.46	\$94,780.80	\$110.00	\$52,800.00	\$80.00	\$38,400.00
<i>a</i> :				6-4" Duct, Concrete	<b>6</b> 46	<i></i>	<b>A</b> O <b>T</b> - 1 - 1	<b>.</b>		<b>*</b> • • • • • •	<b>A</b> AC		000 100 1
81	5ZL0104	260	L.F.	Encased Ductbank	\$19,500.00	\$104.00	\$27,040.00	\$153.91	\$40,016.60	\$100.00	\$26,000.00	\$85.00	\$22,100.00
82	5ZL0105	70	L.F.	2-4" Telephone Riser	\$3,150.00	\$53.00	\$3,710.00	\$62.49	\$4,374.30	\$51.00	\$3,570.00	\$56.00	\$3,920.00
02	52L0105	70	L.I .	Conduit 2-4" Telephone Riser	ψ3,130.00	400.00	\$3,710.00	ψ02.43	ψ+,57 +.50	ψ01.00	\$3,370.00	φ30.00	ψ3,320.00
				Conduit, Concrete									
83	5ZL0106	100	L.F.	Encased	\$5,000.00	\$42.00	\$4,200.00	\$149.14	\$14,914.00	\$52.00	\$5,200.00	\$45.00	\$4,500.00
				1-4" Cable Riser Conduit,									
84	5ZL0107	100	L.F.	Concrete Encased	\$2,500.00	\$18.00	\$1,800.00	\$117.06	\$11,706.00	\$28.00	\$2,800.00	\$19.00	\$1,900.00
85	5ZL0081	7	Each	Water Main Blow Off Assemblies	\$7,000.00	\$4,000.00	\$28,000.00	\$1,455.12	\$10,185.84	\$1,300.00	\$9,100.00	\$1,400.00	\$9,800.00
	5220001	'	Luon	4" Tapping Sleeve and	φι,000.00	φ-1,000.00	φ20,000.00	ψ1,400.12	φ10,100.0 <del>1</del>	ψ1,000.00	ψ0,100.00	ψ1,400.00	<i>\\</i> 0,000.00
86	5ZL0082	1	Each	Valve	\$4,500.00	\$10,000.00	\$10,000.00	\$11,695.86	\$11,695.86	\$9,000.00	\$9,000.00	\$11,000.00	\$11,000.00
		1		6" Tapping Sleeve and					<b>A</b>		<b>A</b>		
87	5ZL0083	1	Each	Valve	\$5,000.00	\$14,000.00	\$14,000.00	\$10,597.66	\$10,597.66	\$9,600.00	\$9,600.00	\$10,000.00	\$10,000.00
88	5ZL0085	2	Each	12" Tapping Sleeve and	\$25,500.00	\$16,000.00	\$48,000.00	\$15,155.20	\$45,465.60	\$12,500.00	\$37,500.00	\$14,500.00	\$43,500.00
89		2	Each	Valve 12" Line Valve	\$25,500.00	\$3,000.00	\$48,000.00	\$18,230.17	\$36,460.34		\$37,500.00	\$17,000.00	
69	5ZL0086	Z	Each	12 Line vaive	\$7,000.00	<b></b>	90,000.0U	\$10,230.17	<b>\$30,40U.34</b>	\$15,000.00	JJU,000.00	\$17,000.00	\$34,000.00

## T869.120.301

Contract	T869.120.301	- Bid Tabulation
----------	--------------	------------------

					and Const. Co.,		Contract rot	53.120.301 -		Vollora Eva	avating and	1	
		ITE	MS		and Const. Co., hc.	Agate Constru	ction Co Inc	Crisdel G	Group, Inc.	Construc		Rosangela Cont	racting Co Inc
90	5ZL12WVU	1	Each	12" Water Valve	\$3,500.00	\$3.000.00	\$3,000.00	\$3,074.97	\$3,074.97	\$2,800.00	\$2,800.00	\$2,900.00	\$2,900.00
91	5ZL0087	1	Each	12" Line Stop	\$2,500.00	\$16,000.00	\$16,000.00	\$15,374.84	\$15,374.84	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00
92	5ZL0100	1	Each	6" Line Stop	\$1,800.00	\$14,000.00	\$14,000.00	\$12,025.32	\$12,025.32	\$10,950.00	\$10,950.00	\$11,250.00	\$11,250.00
93	5ZL0020	3	Each	Water Service Connection	\$7,500.00	\$1,100.00	\$3,300.00	\$796.20	\$2,388.60	\$725.00	\$2,175.00	\$750.00	\$2,250.00
94	5ZL01FHA	2	Each	Fire Hydrant Assemblies	\$13.000.00	\$6.000.00	\$12,000.00	\$12,135.14	\$24,270,28	\$9.000.00	\$18,000.00	\$11,500.00	\$23,000.00
	022011101			6" Ductile Iron Pipe Sewer	,				• / • •				
95	5ZL0021	1,510.00	L.F.	Main	\$113,250.00	\$90.00	\$135,900.00	\$65.34	\$98,663.40	\$45.00	\$67,950.00	\$62.00	\$93,620.00
96	5ZL0078	1	Each	Manhole, Sanitary Sewer	\$4,000.00	\$7,500.00	\$7,500.00	\$5,326.28	\$5,326.28	\$4,425.00	\$4,425.00	\$5,000.00	\$5,000.00
97	5ZL0088	1	Each	Manhole, Sanitary Sewer, 5' Diameter	\$4,500.00	\$6,500.00	\$6,500.00	\$6,479.40	\$6,479.40	\$4,500.00	\$4,500.00	\$6,200.00	\$6,200.00
	3220000		Eddin	Manhole, Sanitary Sewer,	φ4,000.00	\$0,000.00	\$0,000.00	φ0,470.40	φ0,470.40	ψ4,000.00	φ4,000.00	ψ0,200.00	ψ0,200.00
98	5ZL0089	1	Each	6' Diameter	\$5,000.00	\$8,000.00	\$8,000.00	\$7,248.14	\$7,248.14	\$5,560.00	\$5,560.00	\$7,000.00	\$7,000.00
				Sanitary Sewer Air									
99	5ZL0090	1	Each	Release And Vacuum Valve Assemblies	\$5,000.00	\$3,500.00	\$3,500.00	\$4,557.54	\$4,557.54	\$3,820.00	\$3,820.00	\$4,500.00	\$4,500.00
	0220000			Sanitary Sewer Sampling									
100	5ZL0091	1	Each	Valve Assemblies	\$5,000.00	\$2,500.00	\$2,500.00	\$5,271.37	\$5,271.37	\$6,500.00	\$6,500.00	\$5,200.00	\$5,200.00
101	5ZL0092	1	Each	Sanitary Sewer Blow Off Valve Assemblies	\$5,000.00	\$4,000.00	\$4,000.00	\$5,710.66	\$5,710.66	\$5,040.00	\$5,040.00	\$5,500.00	\$5,500.00
102	5ZL0032	40	L.F.	36" Split Steel Casing	\$20,000.00	\$350.00	\$14,000.00	\$1,257.44	\$50,297.60	\$1,100.00	\$44,000.00	\$1,200.00	\$48,000.00
102	3220017	40	<b>L</b>	5" PVC Schedule 40,	\$20,000.00	\$000.00	ψ14,000.00	ψ1,207.44	<i>ф00,201.00</i>	ψ1,100.00	φ++,000.00	ψ1,200.00	φ+0,000.00
103	6A00033	14,250.00	L.F.	Underground	\$142,500.00	\$7.50	\$106,875.00	\$11.16	\$159,030.00	\$7.00	\$99,750.00	\$8.00	\$114,000.00
104	5ZL0003	7	Each	Electric Manhole	\$105,000.00	\$15,000.00	\$105,000.00	\$16,357.73	\$114,504.11	\$14,500.00	\$101,500.00	\$15,000.00	\$105,000.00
105	6A034PU	12,000.00	L.F.	4" PVC Schedule 40,	\$108,000.00	\$7.00	\$84.000.00	\$10.93	\$131,160.00	\$6.90	\$82,800.00	\$7.25	\$87,000.00
105	5ZL0042	12,000.00	Each	Underground Telephone Manhole	\$30,000.00	\$12,000.00	\$48,000.00	\$11,756.26	\$47,025.04	\$11,500.00	\$46,000.00	\$12,000.00	\$48.000.00
100	5ZL0042 5ZL0043	4	Each	Cable TV Manhole	\$22,500.00	\$3,500.00	\$48,000.00	\$4,755.22	\$23,776.10	\$4,250.00	\$40,000.00	\$3,500.00	\$48,000.00
107	5ZL0043 5ZL0093	3	Each	Cable 1 V Marinole	\$1,000.00	\$4,500.00	\$18,000.00	\$1,790.07	\$7,160.28	\$4,000.00	\$16,000.00	\$4,700.00	\$18,800.00
100	52L0093	-	Lach	3" Rigid Metallic Conduit,	ψ1,000.00	φ4,500.00	\$10,000.00	ψ1,7 30.07	φ7,100.20	φ4,000.00	\$10,000.00	φ4,700.00	ψ10,000.00
109	6A03RMS	900	L.F.	on Structures	\$13,500.00	\$32.00	\$28,800.00	\$35.69	\$32,121.00	\$45.00	\$40,500.00	\$42.00	\$37,800.00
110	6A03RMU	100	L.F.	3" Rigid Metallic Conduit,	\$5,000.00	\$30.00	\$3,000.00	\$32.95	\$3,295.00	\$35.00	\$3,500.00	\$42.00	\$4,200.00
111	6A03RIVIO 6A24JBC	6	Each	Underground Junction Box, Type C	\$5,000.00	\$30.00	\$3,000.00	\$32.95	\$3,295.00	\$35.00	\$3,500.00	\$4,200.00	\$4,200.00
112	6A24JBC 6A25JBD	0	Each		\$4,800.00	\$2,500.00	\$6,000.00	\$2,855.55	\$6,369.60	\$2,200.00	\$10,000.00	\$2,100.00	\$8,400.00
112	7C01TOP	4 10,085.00	S.Y.	Junction Box, Type D Topsoil	\$4,800.00	\$1,500.00	\$0,000.00	\$1,592.40	\$0,309.00	\$2,500.00	\$44,374.00	\$2,100.00	\$15,127.50
113	7C011OP 7D01SED	10,085.00	S.Y.	Seeding, Type A	\$10,085.00	\$1.40	\$9,076.50	\$1.54	\$9,984.15	\$4.40 \$1.80	\$18,153.00		\$10,085.00
114	TDUISED	10,085.00	3.1.	Permanent Soil	\$10,005.00	<b>\$0.90</b>	\$9,070.50	40.99	\$9,904.13	\$1.00	\$10,100.00	φ1.00	\$10,005.00
115	7F02SSM	148	S.Y.	Stabilization Matting	\$888.00	\$5.00	\$740.00	\$5.49	\$812.52	\$1.00	\$148.00	\$5.40	\$799.20
116	7J01BLW	430	S.F.	Block Wall	\$30,100.00	\$35.00	\$15,050.00	\$38.44	\$16,529.20	\$37.00	\$15,910.00	\$29.00	\$12,470.00
117		500	L.F.	Furnishing Temporary	\$25,000.00	\$48.00	\$24,000.00	\$45.85	\$22,925.00	\$45.00	\$22,500.00	\$38.00	\$19,000.00
117	8A10MPT	500	L.F.	Concrete Barrier, Type 4 Precast Concrete Curb	\$25,000.00	\$48.00	\$24,000.00	\$45.85	\$22,925.00	\$45.00	\$22,500.00	\$38.00	\$19,000.00
118	8A03MPT	1,730.00	L.F.	Construction Barrier	\$51,900.00	\$25.00	\$43,250.00	\$34.27	\$59,287.10	\$45.00	\$77,850.00	\$25.00	\$43,250.00
				Maintenance and									
119	8C21MLR	1	L.S.	Protection of Traffic on	\$50,000.00	\$78,000.00	\$78,000.00	\$63,364.53	\$63,364.53	\$17,500.00	\$17,500.00	\$32,000.00	\$32,000.00
113	0C2 TIVILR		L.3.	Location No. 1 Maintenance and	\$30,000.00	\$78,000.00	\$78,000.00	\$03,304.33	\$03,304.33	\$17,500.00	\$17,500.00	\$52,000.00	φ32,000.00
				Protection of Traffic on									
120	8C22MLR	1	L.S.	Location No. 2	\$50,000.00	\$80,000.00	\$80,000.00	\$80,080.24	\$80,080.24	\$29,250.00	\$29,250.00	\$30,000.00	\$30,000.00
121	8B31MPT	1	L.S.	Maintenance and	\$25,000.00	\$178,278.54	\$178,278.54	\$21,124.23	\$21,124.23	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00
	00010011			Protection of Traffic 24" x 41" Concrete Barrier	<i>\_</i> 20,000.00	. ,	\$110,210.0 <del>4</del>	ψ21,123.20	Ψ <b>2</b> 1,12- <del>1</del> .20	<i>\\\</i> 00,000.00	φ00,000.00	<i>\\</i> 00,000.00	<i>\\\</i> 00,000.00
122	9D607012P	36	L.F.	Curb	\$5,400.00	\$120.00	\$4,320.00	\$164.73	\$5,930.28	\$155.00	\$5,580.00	\$240.00	\$8,640.00
123	5ZO0034	1	L.S.	Demolition of Buildings (5)	\$25,000.00	\$17,000.00	\$17,000.00	\$32,287.32	\$32,287.32	\$21,000.00	\$21,000.00	\$18,000.00	\$18,000.00
124	5ZO0035	1	L.S.	Demolition of Buildings (6)	\$25,000.00	\$19,000.00	\$19,000.00	\$32,287.32	\$32,287.32	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00
125	5ZO0036	1	L.S.	Demolition of Buildings (7)	\$40,000.00	\$28,000.00	\$28,000.00	\$32,287.32	\$32,287.32	\$33,000.00	\$33,000.00	\$30,000.00	\$30,000.00

							Contract T8	69.120.301 -	Bid Tabulation	l .			
					and Const. Co.,					Vollers Exc	avating and		
		ITE	MS		IC.	Agate Constru	uction Co., Inc.	Crisdel G	Group, Inc.	Construc	ction, Inc.	Rosangela Con	tracting Co., Inc.
126	5ZO0037	1	L.S.	Demolition of Buildings (8)	\$25,000.00	\$20,000.00	\$20,000.00	\$32,287.32	\$32,287.32	\$24,000.00	\$24,000.00	\$21,000.00	\$21,000.00
127	5ZO0021	4	Each	Removal of Underground Storage Tanks	\$24,000.00	\$3,750.00	\$15,000.00	\$2,111.02	\$8,444.08	\$2,750.00	\$11,000.00	\$4,000.00	\$16,000.00
128	8A00002	1	L.S.	Uniform Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item )	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
129	5ZO0018	676	Ton	Off-Site Disposal of ID-27 Waste	\$33,800.00	\$68.00	\$45,968.00	\$34.48	\$23,308.48	\$55.00	\$37,180.00	\$50.00	\$33,800.00
130	N2H0006	2	Each	Dewatering Basins	\$6,000.00	\$4,100.00	\$8,200.00	\$4,776.36	\$9,552.72	\$5,000.00	\$10,000.00	\$700.00	\$1,400.00
		TOTAL OF A	BOVE ITEM	S	\$4,685,466.75		\$4,560,282.39		\$5,985,974.16		\$4,654,468.25		\$4,884,345.45

Contract	T869.120.301	- Bid	Tabulatic
Contract	1009.120.301	- Diu	Tabulatic

		ITE	MS		Renco	or, Inc.		s Construction	Joseph M. Defi	no Trucking Co.	Tilcon N	lew York	J. Fletcher Cre
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$450,000.00	\$450,000.00	\$250,000.00	\$250,000.00	\$280,000.00	\$280,000.00	\$334,000.00	\$334,000.00	\$409,500.00
2	1D01LAY	1	L.S.	Construction Layout	\$100,000.00	\$100,000.00	\$65,000.00	\$65,000.00	\$124,643.77	\$124,643.77	\$95,048.60	\$95,048.60	\$75,000.00
3	1G03SCH	1	L.S.	Progress Schedule (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$250,000. Enter a Unit Price of \$250,000 as your bid for this item.)	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00
4	2A01CAG	3.5	Acre	Clearing and Grubbing	\$9,000.00	\$31,500.00	\$75,000.00	\$262,500.00	\$8,000.00	\$28,000.00	\$23,500.00	\$82,250.00	\$37,500.00
5	2B04REX	9,870.00	C.Y.	Roadway Excavation and Embankment	\$14.00	\$138,180.00	\$23.00	\$227,010.00	\$40.00	\$394,800.00	\$40.00	\$394,800.00	\$22.00
6	2B15STS	1,323.00	C.Y.	Stripping Topsoil	\$17.00	\$22,491.00	\$9.00	\$11,907.00	\$5.00	\$6,615.00	\$19.00	\$25,137.00	\$21.00
7	2G00002	28	Ton	Riprap Stone Slope Protection, 12" Thick, (D50=6") Riprap Stone Ditch	\$225.00	\$6,300.00	\$110.00	\$3,080.00	\$60.00	\$1,680.00	\$95.00	\$2,660.00	\$70.00
8	2G12D07	56	Ton	Protection, 12" Thick, D50=6"	\$225.00	\$12,600.00	\$110.00	\$6,160.00	\$60.00	\$3,360.00	\$95.00	\$5,320.00	\$70.00
9	2H00006	13,265.00	L.F.	Heavy Duty Silt Fence, Orange	\$5.00	\$66,325.00	\$5.50	\$72,957.50	\$2.00	\$26,530.00	\$3.70	\$49,080.50	\$5.50
10	N2H0003	32	L.F.	Haybale Check Dam With Temporary Stone Outlet	\$100.00	\$3,200.00	\$30.00	\$960.00	\$15.00	\$480.00	\$50.00	\$1,600.00	\$40.00
11	2H45TEC	114	Ton	Construction Driveway	\$55.00	\$6,270.00	\$20.00	\$2,280.00	\$15.00	\$1,710.00	\$28.00	\$3,192.00	\$36.00
12	2H35TEC	26	L.F.	Floating Turbidity Barriers	\$60.00	\$1,560.00	\$23.00	\$598.00	\$10.00	\$260.00	\$19.00	\$494.00	\$35.00
13	2H40TEC	16	Each	Inlet Filters	\$75.00	\$1,200.00	\$200.00	\$3,200.00	\$60.00	\$960.00	\$65.00	\$1,040.00	\$130.00
14	2M00004	56	C.Y.	Reno Mattress (Gabion Basket)	\$225.00	\$12,600.00	\$440.00	\$24,640.00	\$250.00	\$14,000.00	\$450.00	\$25,200.00	\$250.00
15	3A06ABC	252	S.Y.	Aggregate Base Course, 6" Thick	\$6.00	\$1,512.00	\$5.50	\$1,386.00	\$8.00	\$2,016.00	\$10.00	\$2,520.00	\$8.50
16	3A08ABC	11,057.00	S.Y.	Aggregate Base Course, 8" Thick	\$8.00	\$88,456.00	\$7.00	\$77,399.00	\$9.00	\$99,513.00	\$14.00	\$154,798.00	\$10.00
17	1HFP002	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$2,000. Enter a Unit Price of \$2,000 as your bid item for this item) Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$5000. Enter a Unit Price	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
18	3B58APA	1	L.S.	of \$5000 as your bid for this item.)	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
19	3B26TAC	3,123.00	Gallon	Tack Coat	\$3.40	\$10,618.20	\$0.01	\$31.23	\$0.01	\$31.23	\$1.00	\$3,123.00	\$0.01
20	3B31SUP	1,352.00	Ton	Superpave Hot Mix Asphalt 12.5M64 Surface Course	\$75.00	\$101,400.00	\$81.50	\$110,188.00	\$75.00	\$101,400.00	\$105.00	\$141,960.00	\$71.00
21	3B23SUP	5,964.00	Ton	Superpave Hot Mix Asphalt 19M 64 Base Course	\$70.00	\$417,480.00	\$80.00	\$477,120.00	\$70.00	\$417,480.00	\$88.00	\$524,832.00	\$69.50
22	3C02BRS	2,468.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$12.00	\$29,616.00	\$11.50	\$28,382.00	\$11.00	\$27,148.00	\$53.00	\$130,804.00	\$10.00
23	3E50PMR	220	S.Y.	Surface Milling, 2" Average Depth	\$10.00	\$2,200.00	\$23.00	\$5,060.00	\$20.00	\$4,400.00	\$15.00	\$3,300.00	\$25.00

		ITE	MS		Renco	or, Inc.		s Construction	Joseph M. Defi	no Trucking Co.	Tilcon N	lew York	J. Fletcher Cre
24	4A11RFS	68	Pound	Reinforcement Steel, Epoxy Coated	\$10.00	\$680.00	\$5.75	\$391.00	\$12.00	\$816.00	\$4.00	\$272.00	\$6.00
25	5A00006	1,192.00	L.F.	6-Inch Combination Underdrain	\$45.00	\$53,640.00	\$29.50	\$35,164.00	\$19.00	\$22,648.00	\$45.00	\$53,640.00	\$18.00
26	N5A0004	102	L.F.	Subbase Outlet Drain	\$50.00	\$5,100.00	\$20.50	\$2,091.00	\$17.00	\$1,734.00	\$36.00	\$3,672.00	\$26.00
27	5B00030	497	L.F.	36" Corrugated Aluminum Alloy Pipe, Gauge 14	\$85.00	\$42,245.00	\$84.00	\$41,748.00	\$80.00	\$39,760.00	\$105.00	\$52,185.00	\$55.00
28	5B00024	28	L.F.	48" Corrugated Aluminum Alloy Pipe, Gauge 12	\$220.00	\$6,160.00	\$140.00	\$3,920.00	\$170.00	\$4,760.00	\$145.00	\$4,060.00	\$125.00
29	5B00025	100	L.F.	60" Corrugated Aluminum Alloy Pipe, Gauge 10	\$200.00	\$20,000.00	\$180.00	\$18,000.00	\$180.00	\$18,000.00	\$275.00	\$27,500.00	\$205.00
30	5B18RC3	424	L.F.	18" Reinforced Concrete Pipe	\$50.00	\$21,200.00	\$54.50	\$23,108.00	\$55.00	\$23,320.00	\$78.00	\$33,072.00	\$45.00
31	5B36RC3	199	L.F.	36" Reinforced Concrete Pipe, Class III	\$90.00	\$17,910.00	\$140.00	\$27,860.00	\$105.00	\$20,895.00	\$125.00	\$24,875.00	\$100.00
32	5B48RC3	33	L.F.	48" Reinforced Concrete Pipe, Class III	\$250.00	\$8,250.00	\$130.00	\$4,290.00	\$180.00	\$5,940.00	\$215.00	\$7,095.00	\$160.00
33	5B00026	1	Each	29"x45" Reinforced Concrete Elliptical Flared End Sections	\$6,000.00	\$6,000.00	\$3,300.00	\$3,300.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$3,100.00
34	5B00020	154	L.F.	34"X53" Reinforced Concrete Elliptical Pipe	\$250.00	\$38,500.00	\$160.00	\$24,640.00	\$200.00	\$30,800.00	\$330.00	\$50,820.00	\$170.00
35	5B00027	65	L.F.	29"x45" Reinforced Concrete Elliptical Pipe, Class V 38"x60" Reinforced	\$225.00	\$14,625.00	\$240.00	\$15,600.00	\$250.00	\$16,250.00	\$240.00	\$15,600.00	\$240.00
36	5B00028	49	L.F.	Concrete Elliptical Pipe, Class V	\$450.00	\$22,050.00	\$450.00	\$22,050.00	\$475.00	\$23,275.00	\$285.00	\$13,965.00	\$390.00
37	5C00028	2	Each	Manhole, Type SP-1	\$16,000.00	\$32,000.00	\$7,700.00	\$15,400.00	\$18,000.00	\$36,000.00	\$11,000.00	\$22,000.00	\$11,500.00
38	5C00029	2	Each	Manhole, Type SP-2	\$21,000.00	\$42,000.00	\$16,900.00	\$33,800.00	\$20,000.00	\$40,000.00	\$9,500.00	\$19,000.00	\$17,300.00
39	5C01NBO	2	Each	Inlet, Type B	\$4,000.00	\$8,000.00	\$2,700.00	\$5,400.00	\$3,500.00	\$7,000.00	\$2,700.00	\$5,400.00	\$2,400.00
40	5C00030	1	Each	Inlets, Type B1-X1P	\$13,000.00	\$13,000.00	\$7,900.00	\$7,900.00	\$14,000.00	\$14,000.00	\$8,500.00	\$8,500.00	\$10,200.00
41	5C00031	1	Each	Inlets, Type B-2	\$5,000.00	\$5,000.00	\$3,900.00	\$3,900.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	
42	5C00032	1	Each	Inlets, Type B-2 Modified	\$4,500.00	\$4,500.00	\$3,600.00	\$3,600.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	
43	9D602030M	1	Unit	Inlet, Type D-1	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	
44	5C00033	1	Each	Inlets, Type D-1P	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
45	5C00034	1	Each	Inlets, Type D1-X1	\$9,000.00	\$9,000.00	\$4,500.00	\$4,500.00	\$5,500.00	\$5,500.00	\$4,800.00	\$4,800.00	1-7
46	5C00035	1	Each	Inlets, Type D1-X1P	\$9,500.00	\$9,500.00	\$5,300.00	\$5,300.00	\$5,400.00	\$5,400.00	\$4,500.00	\$4,500.00	\$5,400.00
47	5C00036	2	Each	Inlets, Type D1-X2P	\$10,000.00	\$20,000.00	\$6,200.00	\$12,400.00	\$12,000.00	\$24,000.00	\$5,600.00	\$11,200.00	\$7,000.00
48	5C00037	1	Each	Inlets, Type D1-X3	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	\$12,200.00	\$12,200.00	\$5,500.00	\$5,500.00	\$6,600.00
49	5C00038	2	Each	Inlets, Type E-1 Reset Frame, Type E with	\$8,000.00	\$16,000.00	\$3,400.00	\$6,800.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$2,800.00
50	5C00039	2	Each	Extension	\$3,000.00	\$6,000.00	\$380.00	\$760.00	\$400.00	\$800.00	\$550.00	\$1,100.00	\$500.00
51	5D10INC	36	C.Y.	Incidental Concrete	\$400.00	\$14,400.00	\$720.00	\$25,920.00	\$250.00	\$9,000.00	\$500.00	\$18,000.00	\$600.00
52	5F01CLC	28	L.F.	Concrete Lip Curb	\$35.00	\$980.00	\$39.50	\$1,106.00	\$45.00	\$1,260.00	\$38.00	\$1,064.00	\$25.00
53	5H02CBC	364	L.F.	15"x41" Concrete Barrier Curb	\$100.00	\$36,400.00	\$120.00	\$43,680.00	\$70.00	\$25,480.00	\$112.00	\$40,768.00	\$90.00
54	N5F0001	22	L.F.	9" X 18" Concrete Curb	\$34.00	\$748.00	\$38.50	\$847.00	\$45.00	\$990.00	\$36.00	\$792.00	\$30.00
55	5J01PCA	2	Each	Parapet Connection, Type A	\$1,800.00	\$3,600.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$1,900.00	\$3,800.00	
56	5J52BGR	1,619.00	L.F.	Beam Guide Rail	\$16.50	\$26,713.50	\$17.25	\$27,927.75	\$16.00	\$25,904.00	\$17.00	\$27,523.00	\$16.00
57	5J51TTS	2	Each	Tangent Guide Rail Terminal	\$2,300.00	\$4,600.00	\$2,300.00	\$4,600.00	\$2,100.00	\$4,200.00	\$2,300.00	\$4,600.00	\$2,250.00
58	5P20LLS	13,160.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.50	\$6,580.00	\$0.35	\$4,606.00	\$0.35	\$4,606.00	\$0.65	\$8,554.00	\$0.30
59	5ZD01RPM	32	Each	Raised Pavement Markers	\$62.00	\$1,984.00	\$71.00	\$2,272.00	\$70.00	\$2,240.00	\$85.00	\$2,720.00	\$62.00

		ITEI	MS		Renco	or Inc	Pillari Brothers Co	s Construction	Joseph M. Defi	oo Trucking Co	Tilcon N	ew Vork	J. Fletcher Cre
60	5001PAW	32	Each	Delineator, Type PA-W	\$13.00	\$416.00	\$45.00	\$1.440.00	\$41.00	\$1.312.00	\$13.00	\$416.00	\$15.00
				Quadguard Impact		• • • •		.,	• • •	• /		• • • • •	
61	5X10QCZ	2	Each	Attenuator, Type CZ	\$4,000.00	\$8,000.00	\$4,600.00	\$9,200.00	\$12,000.00	\$24,000.00	\$16,000.00	\$32,000.00	\$6,500.00
62	8B18MPT	3	Each	Furnishing Temporary Impact Attenuator	\$4,000.00	\$12,000.00	\$5,000.00	\$15,000.00	\$3,700.00	\$11,100.00	\$30,000.00	\$90,000.00	\$1,500.00
				Lead and Asbestos									
63	5ZO0010	1	L.S.	Survey, Report and	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00	\$18,000.00	\$18.000.00	\$18.000.00	\$18,000.00	\$6,400.00
	0200010		2.0.	Monitoring Removal of Asbestos (This	\$10,000.00	<i><i><i></i></i></i>	\$10,000.00	\$10,000.00	\$10,000100	\$10,000100	\$10,000.00	\$10,000100	\$0,100.00
				is a NO-BID, Lump Sum item for this contract. The									
				Lump Sum price is									
				\$100,000. Enter a Unit									
64	5ZO0017	1	L.S.	Price of \$100,000 as your bid for this item.)	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
65	5ZO0012	1	L.S.	Demolition of Buildings (1)	\$48,000.00	\$48,000.00	\$30,000.00	\$30,000.00	\$27,000.00	\$27,000.00	\$27,000.00	\$27,000.00	\$25,000.00
66	5ZO0013	1	L.S.	Demolition of Buildings (2)	\$39,999.00	\$39,999.00	\$32,000.00	\$32,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$16,000.00
67	5ZO0014	1	L.S.	Demolition of Buildings (3)	\$39,000.00	\$39,000.00	\$35,000.00	\$35,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$16,000.00
68	5ZO0015	1	L.S.	Demolition of Buildings (4)	\$41,000.00	\$41,000.00	\$32,000.00	\$32,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$18,000.00
69	5ZO0033	5	Each	Removal of Aboveground Storage Tanks	\$4,000.00	\$20,000.00	\$1,700.00	\$8,500.00	\$1,000.00	\$5,000.00	\$2,500.00	\$12,500.00	\$400.00
	3200033	Ű		Environmental Health and							. ,		
70	5ZO0019	1	L.S.	Safety Plans	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	\$13,500.00
71	5ZG04PJ	321	L.F.	30 Inch Steel Pipe Jacking 4" Ductile Iron Water Pipe	\$1,100.00	\$353,100.00	\$1,325.00	\$425,325.00	\$1,300.00	\$417,300.00	\$1,200.00	\$385,200.00	\$780.00
72	5ZL04DIP	300	L.F.	Class 52 Force Main	\$65.00	\$19,500.00	\$71.50	\$21,450.00	\$65.00	\$19,500.00	\$65.00	\$19,500.00	\$34.00
73	5ZL12DP	1,510.00	L.F.	12" Ductile Iron Water	\$80.00	\$120,800.00	\$91.50	\$138,165.00	\$82.00	\$123,820.00	\$81.00	\$122,310.00	\$47.00
74	5ZL12DP 5ZL0019	450	L.F.	Pipe, Class 52 30" Steel Casing	\$400.00	\$120,800.00	\$490.00	\$220,500.00	\$446.00	\$200,700.00	\$445.00	\$200,250.00	\$280.00
	OLLOONO			2-6" Electric Riser Conduit.		<b></b>			<b>*</b> · · • • • •	+,-		+	
75	5ZL0002	125	L.F.	Concrete Encased	\$115.00	\$14,375.00	\$67.00	\$8,375.00	\$61.00	\$7,625.00	\$118.00	\$14,750.00	\$58.00
76	6J00058	250	L.F.	2-6" Electric Riser Conduit	\$60.00	\$15,000.00	\$63.50	\$15,875.00	\$58.00	\$14,500.00	\$60.00	\$15,000.00	\$55.00
				9-5" Duct, Concrete									
77	5ZL0012	950	L.F.	Encased Ductbank 10-4" Duct, Concrete	\$165.00	\$156,750.00	\$107.00	\$101,650.00	\$98.00	\$93,100.00	\$170.00	\$161,500.00	\$93.00
78	5ZL0101	60	L.F.	Encased Ductbank	\$180.00	\$10,800.00	\$94.50	\$5,670.00	\$90.00	\$5,400.00	\$190.00	\$11,400.00	\$82.00
79	5ZL0102	290	L.F.	3-4" Duct, Concrete	\$55.00	\$15,950.00	\$54.50	\$15,805.00	\$52.00	\$15,080.00	\$55.00	\$15,950.00	\$47.50
79	52L0102	290	L.F.	Encased Ductbank 9-4" Duct, Concrete	\$55.00	\$15,950.00	\$54.50	\$15,605.00	\$32.00	\$15,080.00	\$55.00	\$15,950.00	\$47.50
80	5ZL0103	480	L.F.	Encased Ductbank	\$180.00	\$86,400.00	\$86.50	\$41,520.00	\$80.00	\$38,400.00	\$185.00	\$88,800.00	\$75.00
81	5ZL0104	260	L.F.	6-4" Duct, Concrete Encased Ductbank	\$140.00	\$36,400.00	\$95.50	\$24,830.00	\$90.00	\$23,400.00	\$148.00	\$38,480.00	\$83.00
				2-4" Telephone Riser									
82	5ZL0105	70	L.F.	Conduit 2-4" Telephone Riser	\$57.00	\$3,990.00	\$61.00	\$4,270.00	\$56.00	\$3,920.00	\$59.00	\$4,130.00	\$53.00
				Conduit, Concrete									
83	5ZL0106	100	L.F.	Encased	\$136.00	\$13,600.00	\$48.50	\$4,850.00	\$45.00	\$4,500.00	\$140.00	\$14,000.00	\$42.00
84	5ZL0107	100	L.F.	1-4" Cable Riser Conduit, Concrete Encased	\$107.00	\$10,700.00	\$20.50	\$2,050.00	\$21.00	\$2,100.00	\$110.00	\$11,000.00	\$18.00
05	<b>F7</b> 1 0004	_	East.	Water Main Blow Off	¢4.005.00	¢0.075.00	¢4 500 00	¢40 500 00	¢4 000 00	¢0 700 00	¢4.050.00	¢0.450.00	¢4 000 00
85	5ZL0081	7	Each	Assemblies 4" Tapping Sleeve and	\$1,325.00	\$9,275.00	\$1,500.00	\$10,500.00	\$1,390.00	\$9,730.00	\$1,350.00	\$9,450.00	\$1,200.00
86	5ZL0082	1	Each	Valve	\$11,000.00	\$11,000.00	\$12,250.00	\$12,250.00	\$11,200.00	\$11,200.00	\$11,000.00	\$11,000.00	\$3,400.00
87	5ZL0083	1	Each	6" Tapping Sleeve and Valve	\$10,000.00	\$10,000.00	\$11,100.00	\$11,100.00	\$10,100.00	\$10,100.00	\$10,000.00	\$10,000.00	\$4,100.00
		'		12" Tapping Sleeve and								. ,	
88	5ZL0085	3	Each	Valve	\$14,000.00	\$42,000.00	\$15,800.00	\$47,400.00	\$14,500.00	\$43,500.00	\$14,700.00	\$44,100.00	\$5,700.00
89	5ZL0086	2	Each	12" Line Valve	\$17,000.00	\$34,000.00	\$38,200.00	\$76,400.00	\$17,400.00	\$34,800.00	\$17,200.00	\$34,400.00	\$9,600.00

10-06-2009	
------------	--

		ITEI	MS		Renco	or, Inc.	Pillari Brothers Co	s Construction	Joseph M. Defi	no Trucking Co.	Tilcon N	ew York	J. Fletcher Cre
90	5ZL12WVU	1	Each	12" Water Valve	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00	\$2,900.00	\$2,900.00	\$2,200.00
91	5ZL0087	1	Each	12" Line Stop	\$14,000,00	\$14,000.00	\$16,000,00	\$16.000.00	\$15.000.00	\$15,000,00	\$15.000.00	\$15.000.00	\$5,800.00
92	5ZL0100	1	Each	6" Line Stop	\$11,000.00	\$11,000.00	\$12,500.00	\$12,500.00	\$12,000.00	\$12,000.00	\$11,600.00	\$11,600.00	\$4,500.00
93	5ZL0020	3	Each	Water Service Connection	\$800.00	\$2,400.00	\$830.00	\$2,490.00	\$800.00	\$2,400.00	\$755.00	\$2,265.00	\$1,000.00
94	5ZL01FHA	2	Each	Fire Hydrant Assemblies	\$12,000.00	\$24,000.00	\$12,700.00	\$25,400.00	\$11,600.00	\$23,200.00	\$11,500.00	\$23,000.00	\$4,800.00
				6" Ductile Iron Pipe Sewer				•					
95	5ZL0021	1,510.00	L.F.	Main	\$62.00	\$93,620.00	\$69.00	\$104,190.00	\$63.00	\$95,130.00	\$63.00	\$95,130.00	\$60.00
96	5ZL0078	1	Each	Manhole, Sanitary Sewer	\$5,000.00	\$5,000.00	\$2,100.00	\$2,100.00	\$5,100.00	\$5,100.00	\$5,000.00	\$5,000.00	\$3,300.00
97	5ZL0088	1	Each	Manhole, Sanitary Sewer, 5' Diameter	\$6,000.00	\$6,000.00	\$3,200.00	\$3,200.00	\$6,200.00	\$6,200.00	\$6,000.00	\$6,000.00	\$4,400.00
				Manhole, Sanitary Sewer,				• • • • • • • •					
98	5ZL0089	1	Each	6' Diameter	\$7,000.00	\$7,000.00	\$4,800.00	\$4,800.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$5,000.00
				Sanitary Sewer Air Release And Vacuum									
99	5ZL0090	1	Each	Valve Assemblies	\$4,300.00	\$4,300.00	\$4,500.00	\$4,500.00	\$4,400.00	\$4,400.00	\$4,200.00	\$4,200.00	\$3,100.00
100	571.0004	1	Each	Sanitary Sewer Sampling	\$5,000.00	\$5,000.00	\$3,900.00	\$3,900.00	\$5,000.00	\$5,000.00	\$5,100.00	\$5,100.00	\$3,100.00
100	5ZL0091		Eduli	Valve Assemblies Sanitary Sewer Blow Off	\$5,000.00	\$5,000.00	\$3,900.00	\$3,900.00	\$5,000.00	\$3,000.00	\$5,100.00	\$5,100.00	\$3,100.00
101	5ZL0092	1	Each	Valve Assemblies	\$5,400.00	\$5,400.00	\$5,400.00	\$5,400.00	\$5,500.00	\$5,500.00	\$5,200.00	\$5,200.00	\$2,600.00
102	5ZL0017	40	L.F.	36" Split Steel Casing	\$1,145.00	\$45,800.00	\$700.00	\$28,000.00	\$1,200.00	\$48,000.00	\$1,200.00	\$48,000.00	\$410.00
103	0.4.00000	14,250.00	L.F.	5" PVC Schedule 40,	\$10.00	£142 E00 00	\$8.50	\$121.125.00	\$8.00	\$114.000.00	\$19.50	\$277.875.00	\$7.50
103	6A00033	14,250.00	Each	Underground Electric Manhole	\$10.00	\$142,500.00 \$105,000.00	\$8.50 \$16,650.00	\$121,125.00	\$8.00 \$15,000.00	\$114,000.00	\$19.50	\$277,875.00	\$7.50 \$14,500.00
104	5ZL0003	/	Each	4" PVC Schedule 40.	\$15,000.00	\$105,000.00	\$10,050.00	\$110,550.00	\$15,000.00	\$105,000.00	\$15,000.00	\$105,000.00	\$14,500.00
105	6A034PU	12,000.00	L.F.	Underground	\$10.00	\$120,000.00	\$8.00	\$96,000.00	\$8.00	\$96,000.00	\$10.00	\$120,000.00	\$7.00
106	5ZL0042	4	Each	Telephone Manhole	\$11,000.00	\$44,000.00	\$13,235.00	\$52,940.00	\$12,000.00	\$48,000.00	\$10,705.00	\$42,820.00	\$11,500.00
107	5ZL0043	5	Each	Cable TV Manhole	\$4,400.00	\$22,000.00	\$3,800.00	\$19,000.00	\$3,500.00	\$17,500.00	\$4,330.00	\$21,650.00	\$3,300.00
108	5ZL0093	4	Each	Cable Hand Hole	\$1,630.00	\$6,520.00	\$5,100.00	\$20,400.00	\$4,600.00	\$18,400.00	\$1,650.00	\$6,600.00	\$4,400.00
109	6A03RMS	900	L.F.	3" Rigid Metallic Conduit, on Structures	\$29.00	\$26,100.00	\$32.00	\$28,800.00	\$30.00	\$27,000.00	\$38.00	\$34,200.00	\$25.00
110	6A03RMU	100	L.F.	3" Rigid Metallic Conduit, Underground	\$34.00	\$3,400.00	\$37.00	\$3,700.00	\$34.00	\$3,400.00	\$35.00	\$3,500.00	\$19.00
111	6A24JBC	6	Each	Junction Box, Type C	\$3,500.00	\$21,000.00	\$4,000.00	\$24,000.00	\$3,600.00	\$21,600.00	\$3,000.00	\$18,000.00	\$2,400.00
112	6A25JBD	4	Each	Junction Box, Type D	\$1,900.00	\$7,600.00	\$2,200.00	\$8,800.00	\$2,000.00	\$8,000.00	\$1,700.00	\$6,800.00	\$1,600.00
113	7C01TOP	10,085.00	S.Y.	Topsoil	\$2.00	\$20,170.00	\$3.00	\$30,255.00	\$5.00	\$50,425.00	\$2.55	\$25,716.75	\$4.00
114	7D01SED	10,085.00	S.Y.	Seeding, Type A	\$1.00	\$10,085.00	\$1.05	\$10,589.25	\$1.00	\$10,085.00	\$1.55	\$15,631.75	\$0.55
115	7F02SSM	148	S.Y.	Permanent Soil Stabilization Matting	\$5.00	\$740.00	\$6.00	\$888.00	\$12.00	\$1,776.00	\$0.55	\$81.40	\$7.00
116	7J01BLW	430	S.F.	Block Wall	\$30.00	\$12,900.00	\$34.50	\$14,835.00	\$35.00	\$15,050.00	\$26.00	\$11,180.00	\$32.00
117	8A10MPT	500	L.F.	Furnishing Temporary Concrete Barrier, Type 4	\$46.00	\$23,000.00	\$41.00	\$20,500.00	\$50.00	\$25,000.00	\$55.00	\$27,500.00	\$40.00
118	8A03MPT	1,730.00	L.F.	Precast Concrete Curb	\$46.00	\$79,580.00	\$27.00	\$46,710.00	\$50.00	\$86,500.00	\$55.00	\$95,150.00	\$30.00
110	OAUSIMIE I	1,700.00	<b>L</b> .( ,	Construction Barrier Maintenance and	φ+0.00	\$10,000.00	φ21.00	φ-10,1 10.00	400.00	φ00,000.00	<b>\$00.00</b>	400,100.00	\$00.00
				Protection of Traffic on									
119	8C21MLR	1	L.S.	Location No. 1	\$15,000.00	\$15,000.00	\$57,800.00	\$57,800.00	\$200,000.00	\$200,000.00	\$55,000.00	\$55,000.00	\$12,000.00
				Maintenance and Protection of Traffic on									
120	8C22MLR	1	L.S.	Location No. 2	\$15,000.00	\$15,000.00	\$105,800.00	\$105,800.00	\$220,000.00	\$220,000.00	\$65,000.00	\$65,000.00	\$22,000.00
121	8B31MPT	4	L.S.	Maintenance and	\$15,000.00	\$15,000.00	\$3,600.00	\$3,600.00	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00	\$75,000.00
121	ODJINIPI		L.3.	Protection of Traffic 24" x 41" Concrete Barrier	φ15,000.00	φ15,000.00	<b></b>	φο,000.00	\$15,000.00	φ <i>1</i> 3,000.00	φου,υυυ.UU	φου,υυυ.υυ	φ <i>1</i> 5,000.00
122	9D607012P	36	L.F.	Curb	\$122.00	\$4,392.00	\$140.00	\$5,040.00	\$175.00	\$6,300.00	\$135.00	\$4,860.00	\$120.00
123	5ZO0034	1	L.S.	Demolition of Buildings (5)	\$25,000.00	\$25,000.00	\$19,750.00	\$19,750.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$16,000.00
124	5ZO0035	1	L.S.	Demolition of Buildings (6)	\$25,000.00	\$25,000.00	\$45,285.00	\$45,285.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$18,000.00
125	5ZO0036	1	L.S.	Demolition of Buildings (7)	\$36,000.00	\$36,000.00	\$28,100.00	\$28,100.00	\$30,000.00	\$30,000.00	\$29,000.00	\$29,000.00	\$27,000.00

							Pillari Brother	s Construction					
		ITE	MS		Rencor, Inc.		Co	orp.	Joseph M. Defi	ino Trucking Co.	Tilcon N	New York	J. Fletcher Cre
126	5ZO0037	1	L.S.	Demolition of Buildings (8)	\$27,000.00	\$27,000.00	\$24,250.00	\$24,250.00	\$21,000.00	\$21,000.00	\$21,000.00	\$21,000.00	\$19,000.00
127	5ZO0021	4	Each	Removal of Underground Storage Tanks	\$6,000.00	\$24,000.00	\$3,500.00	\$14,000.00	\$4,000.00	\$16,000.00	\$4,000.00	\$16,000.00	\$3,800.00
				Uniform Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price									
128	8A00002	1	L.S.	of \$50,000 as your bid for this item )	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
129	5ZO0018	676	Ton	Off-Site Disposal of ID-27 Waste	\$99.00	\$66,924.00	\$45.00	\$30,420.00	\$40.00	\$27,040.00	\$59.00	\$39,884.00	\$40.00
130	N2H0006	2	Each	Dewatering Basins	\$3,500.00	\$7,000.00	\$1,600.00	\$3,200.00	\$1.00	\$2.00	\$10,000.00	\$20,000.00	\$500.00
		TOTAL OF A	BOVE ITEM	S		\$4,954,359.70		\$5,025,581.73		\$5,138,000.00		\$5,799,216.00	

		ITEI	MS		amer & Son, Inc.	Green Const	ruction, Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	AMOUNT	RATE	AMOUNT
1	1D10MOB	1	L.S.	Mobilization	\$409,500.00	\$212,400.00	\$212,400.0
2	1D01LAY	1	L.S.	Construction Layout Progress Schedule (This is	\$75,000.00	\$36,000.00	\$36,000.0
				a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$250,000. Enter a Unit Price of \$250,000 as your bid for			
3	1G03SCH	1	L.S.	this item.)	\$250,000.00	\$250,000.00	\$250,000.0
4	2A01CAG	3.5	Acre	Clearing and Grubbing	\$131,250.00	\$18,600.00	\$65,100.0
5	2B04REX	9,870.00	C.Y.	Roadway Excavation and Embankment	\$217,140.00	\$21.60	\$213,192.0
6	2B15STS	1,323.00	C.Y.	Stripping Topsoil	\$27,783.00	\$14.40	\$19,051.2
-			<b>T</b>	Riprap Stone Slope Protection, 12" Thick,	¢4,000,00	¢100.00	¢0,000,0
7	2G00002	28	Ton	(D50=6") Riprap Stone Ditch	\$1,960.00	\$100.00	\$2,800.0
8	2G12D07	56	Ton	Protection, 12" Thick, D50=6"	\$3,920.00	\$100.00	\$5,600.0
9	2H00006	13,265.00	L.F.	Heavy Duty Silt Fence, Orange	\$72,957.50	\$10.00	\$132,650.0
10	N2H0003	32	L.F.	Haybale Check Dam With	\$1,280.00	\$18.00	\$576.0
10	2H45TEC	114	Ton	Temporary Stone Outlet Construction Driveway	\$4,104.00	\$33.60	\$3,830.4
12	2H45TEC 2H35TEC	26	L.F.	,	\$910.00	\$100.00	\$2,600.0
12		20 16	Each	Floating Turbidity Barriers Inlet Filters	\$910.00	\$100.00	\$2,800.0
13	2H40TEC 2M00004	56	C.Y.	Reno Mattress (Gabion Basket)	\$14,000.00	\$114.00	\$12,432.0
15	3A06ABC	252	S.Y.	Aggregate Base Course, 6" Thick	\$2,142.00	\$10.00	\$2,520.0
16	3A08ABC	11,057.00	S.Y.	Aggregate Base Course, 8" Thick	\$110,570.00	\$12.00	\$132,684.0
17	1HFP002 3B58APA	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$2,000. Enter a Unit Price of \$2,000 as your bid item (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$5000. Enter a Unit Price of \$5000 as your bid for this item.)	\$2,000.00	\$2,000.00 \$5,000.00	\$2,000.0
19	3B26TAC	3,123.00	Gallon	Tack Coat	\$31.23	\$4.80	\$14,990.4
20	3B31SUP	1,352.00	Ton	Superpave Hot Mix Asphalt 12.5M64 Surface Course	\$95,992.00	\$73.20	\$98,966.4
21	3B23SUP	5,964.00	Ton	Superpave Hot Mix Asphalt 19M 64 Base Course	\$414,498.00	\$67.20	\$400,780.8
22	3C02BRS	2,468.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$24,680.00	\$10.80	\$26,654.4
22	05500145	000	<u></u>	Surface Milling, 2" Average	¢5 500 00	¢10.00	<b>60 00 ( 0</b>
23	3E50PMR	220	S.Y.	Depth	\$5,500.00	\$13.20	\$2,904.0

		ITE	MS	-	amer & Son, Inc.	Green Constru	uction, Inc.
24	4A11RFS	68	Pound	Reinforcement Steel, Epoxy Coated	\$408.00	\$2.40	\$163.20
25	5A00006	1,192.00	L.F.	6-Inch Combination Underdrain	\$21,456.00	\$26.40	\$31,468.80
26	N5A0004	102	L.F.	Subbase Outlet Drain	\$2,652.00	\$34.80	\$3,549.60
27	5B00030	497	L.F.	36" Corrugated Aluminum Alloy Pipe, Gauge 14	\$27,335.00	\$124.80	\$62,025.60
28	5B00024	28	L.F.	48" Corrugated Aluminum Alloy Pipe, Gauge 12	\$3,500.00	\$164.40	\$4,603.20
29	5B00025	100	L.F.	60" Corrugated Aluminum Alloy Pipe, Gauge 10	\$20,500.00	\$232.80	\$23,280.00
30	5B18RC3	424	L.F.	18" Reinforced Concrete Pipe	\$19,080.00	\$50.40	\$21,369.60
31	5B36RC3	199	L.F.	36" Reinforced Concrete Pipe, Class III 48" Reinforced Concrete	\$19,900.00	\$160.80	\$31,999.20
32	5B48RC3	33	L.F.	Pipe, Class III	\$5,280.00	\$190.80	\$6,296.40
33	5B00026	1	Each	29"x45" Reinforced Concrete Elliptical Flared End Sections	\$3,100.00	\$5,400.00	\$5,400.00
34	5B00020	154	L.F.	34"X53" Reinforced Concrete Elliptical Pipe	\$26,180.00	\$244.80	\$37,699.20
35	5B00027	65	L.F.	29"x45" Reinforced Concrete Elliptical Pipe, Class V 38"x60" Reinforced	\$15,600.00	\$274.80	\$17,862.00
36	5B00028	49	L.F.	Concrete Elliptical Pipe, Class V	\$19,110.00	\$520.80	\$25,519.2
37	5C00028	2	Each	Manhole, Type SP-1	\$23,000.00	\$13,200.00	\$26,400.0
38	5C00029	2	Each	Manhole, Type SP-2	\$34,600.00	\$18,000.00	\$36,000.0
39	5C01NBO	2	Each	Inlet, Type B	\$4,800.00	\$2,880.00	\$5,760.0
40	5C00030	1	Each	Inlets, Type B1-X1P	\$10,200.00	\$9,840.00	\$9,840.0
41	5C00031	1	Each	Inlets, Type B-2	\$3,300.00	\$6,720.00	\$6,720.0
42	5C00032	1	Each	Inlets, Type B-2 Modified	\$2,700.00	\$5,640.00	\$5,640.0
43	9D602030M	1	Unit	Inlet, Type D-1	\$2,300.00	\$4,800.00	\$4,800.0
44	5C00033	1	Each	Inlets, Type D-1P	\$2,500.00	\$9,000.00	\$9,000.0
45	5C00034	1	Each	Inlets, Type D1-X1	\$5,200.00	\$8,400.00	\$8,400.0
46	5C00035	1	Each	Inlets, Type D1-X1P	\$5,400.00	\$7,800.00	\$7,800.0
47	5C00036	2	Each	Inlets, Type D1-X2P	\$14,000.00	\$9,000.00	\$18,000.0
48	5C00037	1	Each	Inlets, Type D1-X3	\$6,600.00	\$9,000.00	\$9,000.0
49	5C00038	2	Each	Inlets, Type E-1	\$5,600.00	\$5,160.00	\$10,320.0
50	5C00039	2	Each	Reset Frame, Type E with Extension	\$1,000.00	\$840.00	\$1,680.0
51	5D10INC	36	C.Y.	Incidental Concrete	\$21,600.00	\$570.00	\$20,520.0
52	5F01CLC	28	L.F.	Concrete Lip Curb	\$700.00	\$42.00	\$1,176.0
53	5H02CBC	364	L.F.	15"x41" Concrete Barrier Curb	\$32,760.00	\$162.00	\$58,968.0
54	N5F0001	22	L.F.	9" X 18" Concrete Curb	\$660.00	\$30.00	\$660.0
55	5J01PCA	2	Each	Parapet Connection, Type A	\$3,200.00	\$2,160.00	\$4,320.0
56	5J52BGR	1,619.00	L.F.	Beam Guide Rail	\$25,904.00	\$20.40	\$33,027.6
57	5J51TTS	2	Each	Tangent Guide Rail Terminal	\$4,500.00	\$2,760.00	\$5,520.0
58	5P20LLS	13,160.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$3,948.00	\$0.70	\$9,212.0
59	5ZD01RPM	32	Each	Raised Pavement Markers	\$1,984.00	\$54.00	\$1,728.0

		ITEN	IS		amer & Son, Inc.	Green Constr	uction, Inc.
60	5001PAW	32	Each	Delineator, Type PA-W	\$480.00	\$18.00	\$576.00
61	5X10QCZ	2	Each	Quadguard Impact Attenuator, Type CZ	\$13,000.00	\$7,200.00	\$14,400.00
62	8B18MPT	3	Each	Furnishing Temporary Impact Attenuator	\$4,500.00	\$7,200.00	\$21,600.00
63	5ZO0010	1	L.S.	Lead and Asbestos Survey, Report and Monitoring Removal of Asbestos (This	\$6,400.00	\$21,600.00	\$21,600.00
64	5ZO0017	1	L.S.	is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$100,000. Enter a Unit Price of \$100,000 as your bid for this item.)	\$100,000.00	\$100,000.00	\$100,000.00
65	5ZO0012	1	L.S.	Demolition of Buildings (1)	\$25,000.00	\$26,000.00	\$26,000.00
66	5ZO0013	1	L.S.	Demolition of Buildings (2)	\$16,000.00	\$17,000.00	\$17,000.00
67	5ZO0014	1	L.S.	Demolition of Buildings (3)	\$16,000.00	\$17,000.00	\$17,000.00
68	5ZO0015	1	L.S.	Demolition of Buildings (4)	\$18,000.00	\$20,000.00	\$20,000.00
69	5ZO0033	5	Each	Removal of Aboveground Storage Tanks	\$2,000.00	\$2,000.00	\$10,000.00
70	5ZO0019	1	L.S.	Environmental Health and Safety Plans	\$13,500.00	\$10,000.00	\$10,000.00
71	5ZG04PJ	321	L.F.	30 Inch Steel Pipe Jacking	\$250,380.00	\$1,150.00	\$369,150.00
72	5ZL04DIP	300	L.F.	4" Ductile Iron Water Pipe Class 52 Force Main	\$10,200.00	\$62.00	\$18,600.00
73	5ZL12DP	1,510.00	L.F.	12" Ductile Iron Water	\$70,970.00	\$78.00	\$117,780.00
74	5ZL0019	450	L.F.	Pipe, Class 52 30" Steel Casing	\$126,000.00	\$425.00	\$191,250.00
74	3210019	430	E.I .	, , , , , , , , , , , , , , , , , , ,	\$120,000.00	φ <del>1</del> 23.00	φ131,230.00
75	5ZL0002	125	L.F.	2-6" Electric Riser Conduit, Concrete Encased	\$7,250.00	\$58.00	\$7,250.00
76	6J00058	250	L.F.	2-6" Electric Riser Conduit	\$13,750.00	\$55.00	\$13,750.00
77	5ZL0012	950	L.F.	9-5" Duct, Concrete Encased Ductbank	\$88,350.00	\$93.00	\$88,350.00
78	5ZL0101	60	L.F.	10-4" Duct, Concrete	\$4,920.00	\$82.00	\$4,920.00
79	5ZL0101	290	L.F.	Encased Ductbank 3-4" Duct, Concrete	\$4,920.00	\$82.00	\$4,920.00
80	5ZL0102	480	L.F.	Encased Ductbank 9-4" Duct, Concrete Encased Ductbank	\$36,000.00	\$75.00	\$36,000.00
81	5ZL0104	260	L.F.	6-4" Duct, Concrete	\$21,580.00	\$83.00	\$21,580.0
82		70	L.F.	Encased Ductbank 2-4" Telephone Riser	\$3,710.00	\$53.00	\$3,710.00
-	5ZL0105			Conduit 2-4" Telephone Riser Conduit, Concrete			-
83 84	5ZL0106 5ZL0107	100 100	L.F.	Encased 1-4" Cable Riser Conduit,	\$4,200.00 \$1,800.00	\$42.00 \$18.00	\$4,200.00
85	5ZL0107	7	Each	Concrete Encased Water Main Blow Off Assemblies	\$8,400.00	\$1,325.00	\$9,275.00
86	5ZL0081	1	Each	4" Tapping Sleeve and Valve	\$3,400.00	\$10,650.00	\$10,650.00
87	5ZL0082	1	Each	6" Tapping Sleeve and Valve	\$4,100.00	\$9,650.00	\$9,650.00
88	5ZL0085	3	Each	12" Tapping Sleeve and Valve	\$17,100.00	\$13,800.00	\$41,400.00
89	5ZL0086	2	Each	12" Line Valve	\$19,200.00	\$16,600,00	\$33,200.00

		ITE	amer & Son, Inc.	Green Construction, Inc.			
90	5ZL12WVU	1	Each	12" Water Valve	\$2,200.00	\$2,800.00	\$2,800.00
91	5ZL0087	1	Each	12" Line Stop	\$5,800.00	\$14,000.00	\$14,000.00
92	5ZL0100	1	Each	6" Line Stop	\$4,500.00	\$10,950.00	\$10,950.00
93	5ZL0020	3	Each	Water Service Connection	\$3,000,00	\$725.00	\$2,175.00
94	5ZL01FHA	2	Each	Fire Hydrant Assemblies	\$9,600.00	\$11,050.00	\$22,100.00
0.	OLLOTTIK	-	Eddi	6" Ductile Iron Pipe Sewer	\$0,000.00	\$11,000.000	Q22,100100
95	5ZL0021	1,510.00	L.F.	Main	\$90,600.00	\$59.00	\$89,090.00
96	5ZL0078	1	Each	Manhole, Sanitary Sewer	\$3,300.00	\$4,900.00	\$4,900.00
97	5ZL0088	1	Each	Manhole, Sanitary Sewer, 5' Diameter	\$4,400.00	\$5,900.00	\$5,900.00
98	5ZL0089	1	Each	Manhole, Sanitary Sewer, 6' Diameter	\$5,000.00	\$6,900.00	\$6,900.00
99	5ZL0090	1	Each	Sanitary Sewer Air Release And Vacuum Valve Assemblies	\$3,100.00	\$4,150.00	\$4,150.00
100	5ZL0091	1	Each	Sanitary Sewer Sampling Valve Assemblies	\$3,100.00	\$4,800.00	\$4,800.00
101	5ZL0092	1	Each	Sanitary Sewer Blow Off Valve Assemblies	\$2,600.00	\$5,300.00	\$5,300.00
102	5ZL0017	40	L.F.	36" Split Steel Casing	\$16,400.00	\$1.145.00	\$45.800.00
103	6A00033	14.250.00	L.F.	5" PVC Schedule 40, Underground	\$106.875.00	\$7.50	\$106.875.00
104	5ZL0003	7	Each	Electric Manhole	\$101,500.00	\$14,500.00	\$101,500.00
105	6A034PU	12.000.00	L.F.	4" PVC Schedule 40, Underground	\$84,000.00	\$7.00	\$84,000.00
106	5ZL0042	4	Each	Telephone Manhole	\$46,000.00	\$11,500.00	\$46,000.00
100	5ZL0042	5	Each	Cable TV Manhole	\$16,500.00	\$3.300.00	\$16,500.00
107		4	Each	Cable Hand Hole	\$17,600.00	\$4,400.00	\$17,600.00
108	5ZL0093	4	Each	3" Rigid Metallic Conduit.	\$17,600.00	\$4,400.00	\$17,600.00
109	6A03RMS	900	L.F.	on Structures 3" Rigid Metallic Conduit,	\$22,500.00	\$30.00	\$27,000.00
110	6A03RMU	100	L.F.	Underground	\$1,900.00	\$30.00	\$3,000.00
111	6A24JBC	6	Each	Junction Box, Type C	\$14,400.00	\$3,500.00	\$21,000.00
112	6A25JBD	4	Each	Junction Box, Type D	\$6,400.00	\$4,500.00	\$18.000.00
113	7C01TOP	10,085.00	S.Y.	Topsoil	\$40,340.00	\$1.80	\$18,153.00
114	7D01SED	10.085.00	S.Y.	Seeding, Type A	\$5,546,75	\$0.60	\$6.051.00
115	7F02SSM	148	S.Y.	Permanent Soil Stabilization Matting	\$1,036.00	\$6.00	\$888.00
116	7J01BLW	430	S.F.	Block Wall	\$13,760.00	\$34.80	\$14,964.00
117	8A10MPT	500	L.F.	Furnishing Temporary Concrete Barrier, Type 4	\$20.000.00	\$66.00	\$33,000.00
118	8A03MPT	1.730.00	L.F.	Precast Concrete Curb Construction Barrier	\$51,900.00	\$60.00	\$103,800.00
	0/10/00/01	1,1 00100		Maintenance and	<i><b>QO</b> 1,000.000</i>	<i><b>QUUUU</b></i>	¢.00,000.00
119	8C21MLR	1	L.S.	Protection of Traffic on Location No. 1	\$12,000.00	\$51,480.00	\$51,480.00
100				Maintenance and Protection of Traffic on	<b>#</b> 20,000,00	<b>\$</b> 50,500,00	<b>*</b> 50,500,00
120	8C22MLR	1	L.S.	Location No. 2	\$22,000.00	\$59,520.00	\$59,520.00
121	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$75,000.00	\$8,400.00	\$8,400.00
122	9D607012P	36	L.F.	24" x 41" Concrete Barrier Curb	\$4,320.00	\$228.00	\$8,208.00
123	5ZO0034	1	L.S.	Demolition of Buildings (5)	\$16.000.00	\$17.000.00	\$17,000.00
124	5ZO0035	1	L.S.	Demolition of Buildings (6)	\$18,000.00	\$19,000.00	\$19,000.00
125	5ZO0035	1	L.S.	Demolition of Buildings (7)	\$27,000.00	\$28,000.00	\$28,000.00
120	JZ00030	1	L.O.	Demonition of Buildings (7)	Ψ21,000.00	Ψ20,000.00	Ψ=0,000.00

		ITE	amer & Son, Inc.	Green Construction, Inc.			
126	5ZO0037	1	L.S.	Demolition of Buildings (8)	\$19,000.00	\$20,000.00	\$20,000.00
127	5ZO0021	4	Each	Removal of Underground Storage Tanks	\$15,200.00	\$3,000.00	\$12,000.00
128	8A00002	1	L.S.	Unitom I rathic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item )	\$50,000.00	\$50,000.00	\$50,000.00
129	5ZO0018	676	Ton	Off-Site Disposal of ID-27 Waste	\$27,040.00	\$60.00	\$40,560.00
130	N2H0006	2	Each	Dewatering Basins	\$1,000.00	\$3,000.00	\$6,000.00
	TOTAL OF ABOVE ITEMS						\$4,621,968.20